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WRA- HMferer Tafkerfa qer faem

Ans. (d) : YRG § TSIl & G 28 9 e WHA g0
e 8 21 WRA H Pl &het 3.28 Mferaw vt foeft, @1 A
F ewifa fomm 8% I ¥ 37%' 9 wd e R
68°7' 7 ¥ 97°25' wdff e 21

a7: faeed (d) 9 gafem =& 21

2. Which one of the following is current in respect of total
number of States and Union Territories in India? /9Rd

T T SR W USeEl W § 9 & dey §

Frefofaa & & wF-ar & §7?

(a) 28 States and 8 Union Territories/28 Ts9 3N § §Y 98

(b) 27 States and 9 Union Territories/27 5% 31X 9 T To9aiT

(c) 30 States and 6 Union Territories/30 IsF IR 6 G TR

(d) 29 States and 7 Union Territories/29 T4 IR 7 G TR

NDA/NA Exam (I), 2022
‘Ans.(a):mwaﬁméﬁl ‘
3. India is located / YR 3Tafeera (Located) 2-

(a) Between 8°4’south to 37°6° north latitude and 68° 7° west
to 97°25 cast longitude/3T&Ie 8°4' 7. g 37°' 3. T IR
68°7'T. ¥ 97°25'Y, F WA

(b) Between 8°4’north to 37°6’south latitude and 68°7’east to
97°25west longitude/3TIT 8°4' 3. ¥ 37°6' T, TAT AWK
68°7'Y, ¥ 97°25'7. & HeA

(c) Between 8°4’north to 37°6’north latitude and 68°7° east
to 97°25 cast longitude/3/ITST 8°4' 3. § 37°6' 3. TIT IR
68°7'7. ¥ 97°25'Y. & HeA

(d) Between 8° 4’ south to 37°6° south latitude and 68° 7°
west to 97° 25" west longitude/3T&IIeT 8°4' T, ¥ 37°6' <. a1
TR 68°7'T. § 97°25'T. & HEA

BPSC (Pre) G.S. 2003-04, 1994
UPPCS (Pre) Opt. 1999
Himanchal PSC (Pre)-2013

E A INIE RSN 8°4' ¥ 37°6' I 3FeATT
i gfeq swreia fawr 6°45' ¥ 37°6' 3T AW
ey fasr 68°7' § 97°25' g&f IR
TIT W Tgieeh Iifaw €T forg
I fog e it (eEr)
e fareg 3fa wEe (I fF=ER F)
T g i 2Ryl FHGAN (THEATS)
T fog fepfary (sTEvTEA W)
oyt fareg TER HIi/TTRAMT (T50)
VR aht T F S T [@m
e g 15200 fopdt.
A 9fH &I T g 6100 feRHT.
£l afeq @etT dim # g a=E | 7516.6 fE
AT T /hes, I Y291 TS ekl qet Hrumd
TSI/ R IMA. < T (orag TRt )
1. | 3veHm wd FeER § 1962
e
2. RG] 1215
3. Y &I 974
4. ATy 907
5. TRENY 653
6. HA 570
7. stfesm 476
8. Fleh 280
9. ufyy e 158
10 [GIRER 132
11 e 118
12 RERRl 31
13. g 9 €4 10
T TG 7516.6

Ans. (¢) : YT F FFA ITHUIE 1 Ig AT @ F IR §
8°%4' ¥ 37%' IT IrAw 7= 68°7' F 97°25' W I b HA
o 81 35 W1 (23°30" I sreren) qer 82°30" T IR I F
T A ¥ O 1 49 1 Ia-aRl R 3,214 el qer
qd-ufym R 2,933 fl 21 gEE TRl dmr 15200 AL 2
TUH A 3287263 O fHA. 1 &A% # gfF T 9nd fawa &
T WH W & a9 S § 99 a1 g § g@ o w2

1.  Which of the following pair is not correctly Matched?
frrefefaa St # @ s @1 wirer 9t 78 872

(a) Total area of India - 3.28 Million sq. km.

NG I FA FTHA 3.28 faferem ot fepetiex
(b) Latitudinal extent - 8°4'N-37°6'N

AT IR R 8%4' 3.9 37%' 3.
(c) Longitudinal extent - 68°7T'E-97°25'E

IRA N I faR 68°7' 9.-97°25' 4,

(d) Number of states in India - 26
qNd § T4 & g & 26
Jharkhand PSC (Pre) G.S. I 2016

4. Which one of the following pairs of States of India
indicates the easternmost and westernmost State?/¥T{d

& T o frefafad # 9@ SE-91 TE I, g
geff it wad ufyerdt T it AT YT &7
(a) Assam and Rajasthan/aTFﬁ'q 3R TeTE

(b) Arunachal Pradesh and Rajasthan/37&UT=ct T N
ST

(c) Assam and Gujarat/37HH 3 TR
(d) Arunachal Pradesh and Gujarat/3&0I<d Y R

IAS (Pre) I'* Paper G.S., 2015

Ans. (d) : 3TIH T I AT G |

TR T e
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Consider the following statements:
= At W foem Sie-

1. Longitude of Jabalpur’s location is between those of

Indore and Bhopal/SIeTqX &l <M= W o3ER T
wirTe # AR et % 99 g

. Latitude of Aurangabad’s location is between those of

Vadodara and Pune/3TEIE &1 37f79T ST 9 E[lﬁ *
3FeTTSit % e 2
. Bangalore is situated more southward than Chennai./
STE Y srafRf =g #1 qor § st e 2
Which of these statements is/are correct?
TAH hF-9TH HUT TE &R ?
(a) 1 and 3/1 3R 3 (b) Only 2/%aa 2
(c) 2 and 3/2 3 3 (d) 1,2 and 3/1, 2 3 3
(IAS (Pre) G.S. 2003)
Ans. (¢) : SEAR H IR [T (79.95°E) 3R (76°E) T
GO (77.42°E) F S T 8, o/ FUF (1) Tod g
SR T SR (19°53' 47'N), TSR (22.30°N) & 0T
(18°31°N) & owieil & =9 f@m 21 dwe & swiw
1297°N & @ == & swinefa f&fd 13.04°N 3, s
e, FFE I YU S IRUTE TR 2

6.

Which one of the following pairs of islands is
separated from each other by the 'Ten Degree

Channel'?/ frfafaa gidt & g1 § § ®HA-61 Th
‘T@ I Sermmt’ (Ten Degree Channel) SRT 3{TUH b}
goreg TaRam Sirar 87

(a) Andaman and Nicobar/37saM Td FehiaR

(b) Nicobar and Sumatra/fHER TE RSRIEN

(c) Maldives and Lakshadweep/ATedid Td @eTgq

(d) Sumatra and Java/gHmET Te €T

1AS (Pre) Ist G.S. 2014
UPPSC(Pre)G.S. 2003, 2005
UPPSC UDA/LDA(M.)G.S. 2010

Ans. (a) : 10° I BT 3AE 9 HR FHER F 767 R 7
sfer-FEER §U TR dma # T § O 9 @ e
Tl £ 81 3 AReie €9 # gy Saeme v 8 9 i
Tfeha el 71 SienH £ 1 e I deerdis (732 )
7 FeER £19 1 w9 a8 e (642 A1) 21

Y@ e/ STASHERuT 39 YR 8-

T ot wug EECVACI IV

qrodia 9 fafea & g 8% Tt

o TRILY () 7 fufmE % qem 90 W

BT fSAM 9 FR R & 758 10° =9et

o Rl sieAm 7 @Y ofeHH & HEA A U

o il LY (FER) T I
U & TeT FIB B
o TUE (VSR & fbieR % weg Hve =el
o dfeAg 7 dic & 7 T LT
o T Y dAferg 3 fcis & 7 AR S @

7. Ten Degree Channel is found between :

2 faft 2=et fermak sfter wrean e 87

(a) North Andaman and Middle Andaman/3W 3EAH 3
AL FSHH

(b) South Andaman and Little Andaman/3ferofi sfgam 3R
fafea sisam

(c) Little Andaman and Car Nicobar/fdfeed 3gdM 3R
FR fpram

(d) Car Nicobar and Great Nicobar/&R PR 3R 32 FaEr

CDS Exam (D), 2022

Ans. (¢) : STIH T F ARAT TG |
8. Tr=fafaa o ¥ wiA-61 W™ 3iga™ iR e
FIU-TUE T ST hTdl &7
(a) TR &I W (b) = feoft =t
(c) TE feft <9 (d) TS TASHEA (W )
I (b) : 3T T H A W |
9,

The Nine Degree Channel is located-

e faft s srafie &-

(a) in between Kavaratti and Minicoy/®a<il a1 At
F d

(b)in between Ameendivi and Kavaratti/3™H=arEr @
FART & o

(c) in between Car Nicobar and Great Nicobar/FRIhER
a7 ¥ fERr & 9=

(d)in between Andaman and Nicobar Islands/37€HH a1
fepaR gl & o=

UPPCS (Pre) G.S. 2002

Ans. (a) : 39IT T Y AT 3G |
10. frefafaa fagimamEst & AR W TS &0 g

i -
1. ek 1T 30 TSI § 2IeT T 2

2. TH ST R IT-S(AT | o 31frer 81
3. 3O ST ol ATy 3R WAR & 91 {awsia

a2
e T T e 1 JET R EE I
(a) frqu (b) sl
(c) ATAS (d) =R

CDS Exam (II), 2021

TR T e
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ST (b) : 394 Fmand fieis ToT & 21 3@ TF ¥ Fh
T O 81 39 TS 1 e Swe-afor | s @1 st
T 1 G aiaRy, =R, 9, s ud s § ot 7

20 HEd 1987 H SRA 9Rd & 239 T o fora
T STESIel & | Fal o Fo ot 4 deren (185 ) 21

11.

The meeting point of 80° East longitude and tropic of

cancer is/80" &t MR 3R Heh-aT &1 fore= forg %
(a) Andhra Pradesh/37T=¥ ey H

(b) Maharashtra/7g g ¥

(c) Uttar Pradesh/3tX eI |

Ans. (c) : TSI & EL V&R q4T HEMF ot TSTEmT
R T U @ SRV W W afRE g1 ST qur

wwwﬁzggmmamw%m

oAl ¥ B gU o 8, ¥ HU AT 26° rerier # R 2
T ¢ IV W A g gr off e adn frerw &
aiffes auf =t A § waifess WP W g1 SR Ik [
TS H A9 H =AqT G gt 81 e et wfegd gegof
e TF Teifsa ¥ R @9 % FROT 29 1 e s
st aren Tsa 21 qed @ o and § waifees aut are & e

(d) Madhya Pradesh/m& w391 #
UPPSC Food & Sanitary Inspector Exam. 2013

Ans. (d) : 80° T IR TR e @1 &1 Ao farg weg s
i Ry 31 78 WM FIAR ¥ W 1 3N fem 2
12. The latitudes that pass through Sikkim also pass

through-/fafeerm q '{;ﬁl’ﬁ‘ qren Sty fafafaa o @

form weh A oft SRt e §2

(a) Rajasthan/TsTEATH

(b) Punjab/USTal

(¢) Himachal Pradesh/fgar=rel BEN)

(d) Jammu & Kashmir/ﬁui—?ﬂ‘ﬂ'{

Himachal PCS (Pre)-2014
(IAS (Pre) G.S. 2010)

AT R T St Herer # & o 2

15.

If the latitude and longitudinal extent of an Indian
State/UT is 15°48'00” N to 14°53'15" N and 74" 20’13"
E to 74°40'33"” E. Then which one of the following is
that State/UT?

fe fereft Te o9/, IR WQ9T AT 3T&TTTT 3R
TuTea faeam 15%48'007 N ¥ 14°53'15” N 3R 74°
2013 E | 7440'33" E ¢ , @Y fr=fafaa § @ @8

TS /he5 A JS9T SiA-4T §7
(a) Puducherryﬂﬁﬁff (b) Chandigarh/=velrTe
(¢) Goa/TaT (d) Delhi/feeett
CDS (II) 2016

Ans. (a) : fafFFm ¥ ToRA aTen o TSEAE ¥ F @
TSRAT 8| e IS, fRATEe YAv e STHy-hewi 3w afedre
R fed 21

13.

Which one of the following latitudes passes through
maximum Indian states?

frrafafaa & & SiF @1 St Sifrehan wRdter et

A & T T[T &2

(a) 20° N latitude / 20° N 37&feT

(b) 22° N latitude /22° N 3TefiaT

(c) 24° N latitude /24° N 3TeTiaT

(d) 26° N latitude /26° N 37efsT

CAPF - 2019 (I)

Ans. (c) 24° N 3FI9T @ 10 T § @i et 21 forgd
TR, TSI, W& RV, IW ey, SAWE, FREvS, °
et g, feie, afTR T aftafed 2
14. o TomEl o S g e € 39 W g e W R

Torer S TR SR Ueh & 31eNivT W Srafed § R

oft 3T fe a1 @t HET HET T I HAI(Ih

TE §?

(a) FTER A TEE

(c) ST 3R e

(b) 58 3R farem@EmETg
(d) AT TR FHershar
IAS (Pre) 1993

Ans : (c) T TST H PRI W AT R 15°48'00"N F
14753'15"N 31 7420'13"E § 74'4033"E 81 Yo7 & & 3o
3 Heaqul T 1 el e e R 5 TR 3

TS R.IMIT arerioT MRS
JUENTE 30'42'N 76 54'E
REEL 154N 79°38E
faeett 28°38'N 77°12'E
16. What will be the difference of time in hours between

the most western village of Gujarat and Walong located
at the most eastern end of Arunachal Pradesh?/TSIId *

T ufgerdt Mg 3T rEUTee YR % W Ul BR W
T et & wue # foha 2 T STt BRI

(a) 1 hour/1 ST (b) 2 hour/2 =T

(c) 3 hour/3 ST (d) ¥ hour/1/2 ST

NDA (I1) 2017
UPPCS (Pre.) G.S. 1992

Ans. (b) : TG & F99 Uf¥edt BR (T 68°7 qd) TH
TR WSW & A DR (97°25") H ww 30 fesft qunier @
3R 21 T <M & T 4 firfe &1 goiaue @1 3%: 30

YR & fow

30634a’a=2'4€*$rwaﬁ1m

TR T e 14
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17. If India adopts two time zonmes based on 75" E
meridian for western India and 90° E meridian for
eastern India, which one among the following states of
eastern India will be benefited most ?

gfe aRa o, uiyenft ara & fag 75°E IR eiw
Teff v & T 90°E Ir=iTR o SMUR W §l WHA
T AT, WE, | gef e @t fefefad 3 | e
T Ueh T Gaifereh ATHT = BHTr?
(a) Manipur / tlfﬁ'l'ﬂ'(
(b) West Bengal / =M &Tel
(c) Assam / 3T9H
(d) Bihar / @R

CAPF (AC) Paper-1 2011

Ans. : (a) A% 9Rd #, 9= 9Rd & fw 75°E G i
Tdf YR & foTT 90°E AR & SHR W & HI S ST
S gEf wRd # wfoTg waifs e g

18. Among the following cities, which one lies on a
longitude closest to that of Delhi?
frfafad & & &H-91 9T foeett o qad |@Hia &

IR 0 Tera & ?
() Bengaluru/sTe®
(c) Nagpur/TTqX

(b) Hyderabad/2eleTg
(d) Pune/‘jﬁ
TAS (Pre) 2018
Ans. (a) : el IR i T & 39H AT frER 76°50"
@ #7720 9@ F wex @ 39 fowed § ¥ fRweh & wew
Tiq g vrel B e Aeadd i faeel ¥ wed FW &)
fompeq & foU T vl & Sviadd R # devee & fawn
78°23 98 & 78°%8 7& T, AR I fawR 78°15 7@ ¥ 79°40
& 7%, e & R 77°19'qd ¥ 77°50' 7@ @ q°r QU
fm 73°19' 9d & 75°10' 7@ 7% B1 o W= € f e
feeett % wad T & e W Red 2
19. 7E UEETSE o GACd Tt TAH TR 9RA & fRe ww
IR (Meridians) | ﬁ@rs"
(a) 2°30" W (b) 82°30" E
(c) 92°30" W (d) 92°30"E
IAS (Pre) 2000
UPPCS (Pre) G.S. 2004
Ans. (d) : TR F1 R 8° 4 IR ¥ 37°% 98 oww am
68°7' 7@ ¥ 97°25' O W 7% 21 Ifh gARd gd fawm # g
2, 3 T Hewsd % Gaed H qeel fhor qRd & o faew §
& 3wt | IRA % 31veHH FER §v W Ry fead WS =
R TEElR & QAT A weel fRwr 6 T dedd @9 @
foraR 92°30' W& IR (FHRR) §1 WA & v F few
a9 W off 77 T fewrE

20. Tropic of cancer does not pass through which of the

following state?/

forer & W o T W e e T TRt 87

(a) Gujarat/TSIUd

(b) Rajasthan/TST&ATT

() Tripura/ﬁ‘iﬂ

(d) Arunanchal Pradesh/37&0TT= el EEN

UK PSC RO/ARO (Pre) 2021

Ans. (d) : FH TN (23°30N) 9T & T T oL ToIeT @
T, A TR, BAETE, FREvE, ufvew ama, B a
foeis | S STEvIEe YRwT, TR 91 AU b @M %
I AR 31 37 TeT T Fb @ A oA 2
39 YR T (d) e I 2
21.

Identify from the following states of India through
which the Tropic of Cancer passes and arrange them
from east to west:

O o fefefad el § | 3% ugen-y Wal 9 Heh
TG AT § ST 3% U9 | UiHW o oW W g ¢
Gujarat/I[SId

West Bengal/ Tf3W sTTet

Uttar Pradesh/STR ¥e9T

Jharkhand/sTR@UsS

madhya Pradesh/7&x M)

Bihar/fSgr®

7. Chhattisgarh/S<EaTE

Select the correct answer using the code given below :
o fe2r Te T JET Y | ST g

(a) 2-5-7-4-1 (b) 2-4-7-5-1

(c) 3-2-6-7-5 (d) 3-7-4-6-2

A e

NDA (I) 2011
Ans. : (b) 9TRG F g gy F wiEiy fHwr 8% ¥ 37%
I srrte qun qwAE faER 68°7' ¥ 97°25' TEf AW &
WE g1 Sheh W1 9RG & A § 8 TsAl § oAt & q @ 9§
oy gHe w3 feiw, fgu, Yo e, s,
TAETE, AEA-YR, ToRAE a1 [oNA| 9RG H A= 9
82°30" &l IWR W S 5 T I YT, HeA TRV, BTG,
ST T 37y JR9 § T[T B

22. Tropic of cancer passes through how many Indian

states?/feha= AT Y9N A EIehT sheh 1T (Tropic of

Cancer) TSI 87
(a) 6 (b) 8
(c)7 (d 9

Uttarakhand PCS (Pre) G.S. 2009-10
UPPCS (Pre.) Opt. Geog. 2001

Ans. (b) : 3T T H R G |

TR T e
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heh (@1 W AL T TR W (MR THA ) & fehe
1. TS Tera-ygE v
2. TIM, BLESS T
3. T TR TR (SAREIR) W AT
4 BUHTE fan T QY
5. IRETE TR AT
6. EECKIS] HNIYE e
7. frga feremraTTEm Y T
8. fasTe 23. Which of the following Indian State lies in north of
TR AR QI @ W IR T Tropic of Cancer? T § w9 | "R
1. I 9T T heh QT & 37§ forT 87
2. q5T 929 (a) Jharkhand/3IR@US (b) Manipur/HfiTqX
3. AT (¢) Mizoram/fsig (d) Tripura/ﬁ‘iﬂ
4 anfeem UPPCS (Pre.) Opt. Geog. 2003
3 prg ‘Ans.(b):sqﬁ?ﬁmaﬁax@ré@
24. Which important latitude divides India in almost two
T YT % e oo v equalpartQ{Hﬁ?W TUT STRITIT R St S TS
. TSR WA | fremia ehear &2
I T srerivhiar feerfa o 0a . 0
(et areioT) (2) 23°30' South/ 2330 2RI (b) 33°30 North33” 30" 3
2 (©) 0 (d) 23°30'North/23° 30" 3
Bkl A 5 23°25 UPPCS (Pre) Opt. 1996
ST qe9 HaW 23°1T MPPSC (Pre) G.S. 2008
S e F 23%9' | Ans. (d) : 3P 32 F =R |
kil drErs 23°10" 25. Tropic of Cancer does not passes through:
ST TS 26°29' weh g 1 e T | %ﬂﬂﬁﬂﬁwﬁ?
TR RSAG 23°13' (a) Tripura/fBYqQ (b) Mizoram/fHeig
TIR TAITE 21°16' () Manipur/H0Tq (d) Chhattisgarh/SaTe
EARENG! i S 22°33' UPPSC RO/ARO (Re-exam) 2016
ST ﬁ.a-q 23°5()' ’ Himachal PCS (Pre)-2014
BRI Rt 23°36' ‘ZAG“S ;2?@?5 ;'Wfaz[ A 3| T h‘
X e Tropic o ancer passes through which of the
ki XS & SAUH o THY follow1ngpStates"/€h_ef5 i‘GPT ﬁl’l:lﬁ"lﬁg?lg' o ¥ foRT Tt
T = T BreT oAt §7
SARAN TSt 1. Tripura/Brgu 2. Mizoram/fo=ie
SRR Tstem 3. Manipur/®foTqY 4. West Bengal/af¥w sTTeT
el kil Select the correct answer from the codes given below
B FRETS mﬁﬁqﬁwﬁﬁwwwwaﬁ%ﬂ‘
EEI [ FREUE Codes/&he :
R T g (a)1,2and 3/1,2 33 (b) 2,3 and 4/2, 3 34
o e— frgm (c)1,2and 4/1,2 34 (d) 2,3 and 4/2, 3 34
BIEEI i UPPSC Polytechnic Lecturer 2021
= YT % < § e 99E I ‘Ans.(c):S‘?i’rBWEﬁEJT@Té@I ‘
TR = 27. Tropic of cancer passes through:
. ek 1T T §-
TR Td (a) Madhya Pradesh/T&7 Y3¥r
orare e 4T .
(b) Tr1purafﬁ'§{'[ T
SAFAL A (¢) Mizoram/fo=Re ¥
I BETE (d) All of the above/TI T
T EISCERS] UPPCS (Pre) G.S. I* Paper 2005
IRl qfem e MPPSC (Pre) G.S. I* Paper 2014
qTers s ‘Ans. (d) : ST T F AR TG |

TR T e
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28. The Tropic of Cancer does not pass through which
one of tl?e following States?/ih_eg@T ﬁl‘qﬁ%ﬂ' Rk
for T | B T T 82
(a) Manipur/l-'lfﬁl'ﬂﬁ (b) West Bengal/af¥=¥ st
(c) Gujarat/TSIUd (d) Jharkhand/sR@e
NDA/NA Exam (II), 2021
|Ans. (a) : S 5% I =T 29 | |

29. Which of the following gig is nearest to the tropic of

Cancer? / HIT-9T e heh W@ 9
o forehee &2

(a) Jabalpur/SIsIeTqX (b) Ahmedabad/378HTdTs

(c) Ujjain/3si (d) Varanasi/aroTgt

UPPCS (Mains)-2017

Ans. (a) : SO TR Feh @ § GG FHH 31 Fh @

aﬁ%@nwﬁqﬁﬂaﬁélaﬁk%@(z%omr@m%

RS, TEAR, TIHH, e, IS 3R Wam & Ao 9
B TORAT 81 39 § SEAqR # raRafy 23°11' N 91 I
# 23°59' N 8| Seai@id € & b 1@ 9Rd & 7T 33 T
T e ¥ e R

Are—9rd &6 W | Ryd Toerh TR 3 (@rars) 2

30. The Tropic of Cancer does not pass through

Heh-T@T el | EH et 82
(a) Orissa/3g4T (b) Tripura/ﬁ'ﬂ'{'f
(¢) Chhattisgarh/&d9Tg  (d) Rajasthan/TsE

NDA (IT) 2009
‘Ans.:(a)@'ﬁ?ﬁmaﬁwaﬁl ‘

31. Among the following cities, which one is nearest to the
tropic of cancer?
o TR # @ RA-TT ek W o frehean 2
(a) Delhi/feeeft (b) Kolkata/ITebre
(c) Jodhpur/?ﬁ%il'? (d) Nagpur/drTqX
IAS (Pre) G.S. 2003
Ans. (b) :

faeetl — 28°38" 3. 3T

FHIAHIAT — 23°34' 3. SFRIY

ST - 26°20' 3. A

AR - 21°11" 3. AW«

: WY 2 % HIcTshar & W@ % god e Reod 21
32.

Which one of the following cities is nearest to the

3THAAT 23°50'N
TR 23°13'N
EEGRN 23°11' N
Iso 23°59'N

33. The longitude line (82° 30°) of Indian Standard Time
passes through which city?/ U=eh 9O ki
I @ (82°30") FoRd TR | Ereht TTareelt 872
(a) Nagpur/aTTX (b) Delhi/feeedt
(c¢) Patna/d9em (d) Allahabad/geTRIET<

Haryana PCS (Pre)-2014
CDS Exam (1), 2021
MPPSC (Pre) G.S. 1996
UPPSC (Pre) G.S. 1993

Ans. (d) : IRAE AMEH THT IR TG (82°30") FATRIS
(TAREE) T FH oA 21 T @1 W & U T SW
TIU, T YN, DAGNE, SAEWM U1 oMY IR T B
ToRAT 21 T 3 Heaqul Ae THA @l & fhe 3@
vl & Rufy 59 yoR 2

TR arareerfa
° TEH 81° g, IR
o fmr 81.25° g, IR
e T 78.50° g, IR
o I 73.28° g, IR
o EiTERE 78.45° g, IR
o U 77.40° g, MR
e TR 78.28° g, 3=
o TS 77.24° g, IWR

34. Which of the following longitudes is known as

‘Standard Meridian’ in India?

frafefgs Qe ® S9-97 9RAG @ CCwrETTeR
HeATg TET’ HgeATar 87
(a) 87° 30°E/87°30" il
(c) 84° 30°E/84°30" Yaif

(b) 85°30°E/85°30" Taif
(d) 82°30°E/82°30" &t
UPPCS (Pre) GS, 2013

| Ans. (d) : ST 57 & =T 39 |

35. The IST meridian 82 Y E passes through a number of

States in India. Which one of the following sets of
States is correct in this respect?

IST TR 82,°E WA o &g Tl & BT Toiet
%1 3@ Heiw ¥ TeEl o frafafaa ageeE § ¥ siE-
| T T E—

(a) Uttarakhand, Uttar Pradesh, Chhatisgarh and Andhra

Tropic of Cancer? @ Pradesh/3TEE, W T, 3Ty waw
Feheam §ﬁ' W fere 77 (b) Uttar Pradesh, Jharkhand, Chhatisgarh and Odisha/3wX
(a) Agartala/3Taen (b) Gandhinagar/TdTR T, FREUES, IAAE AR I
(c) Jabalpur/SIIeTqX (d) Ujjain/3ssiq (¢) Uttarakhand, Uttar Pradesh, Madhya Pradesh and
UPPCS (Pre) G.S. 1999 Chhatisgarh/3TEE, 3T 2T, T YU 3R SATTE
. TR feay o (d) Uttar Pradesh, Odisha, Angihra Pradesh and
;n{?[. S%@Tngﬁ ﬁ?ﬁ@?ﬁaﬁw 3 Ej :Imﬁﬁ; e 25 3 3% Chhatisgarh/3tX T, , Y 9e¥ 3 BAETE
Cx e e . NDA (II) 2015
?;M%lmmwmﬁwﬂﬂﬁaﬁw s s (@ 7757 7 = |
ORA T A 18 YCT



36. The local time of Patna is/TeT ST T AU -
(a) Ahead than Indian Standard Time/¥Rdid AHS qHI g
T 2
(b) Same as Indian Standard Time/ag! 2 St 9rdE aH
99 8
(¢) Behind than Indian Standard Time/9Rd HHe q9I g

(d) Not related to Indian Standard Time/HRdE A THI
Y T T 8

BPSC (Pre) G.S. 1996
Ans. (b) : YA & A% THT TATRN (SAREIE) & ihe 1
# 82°30 wdf (E) 9 @M1 SEr 2?1 el 9w # uw &
TR S 81 SET Yol & W S ad & S 9Rd™

T T 2
37.

If India has meridian standard time, then what will be
the 120° East longitude local time?
Ife ARAT AR AU ANAR T 7eATg & f 120°
Teff IIM=R TR T THS T ERIT?
(a) 09.30 (b) 14.30
(c) 17.30 (d) 20.00

UPPCS (Pre) G.S. 2001)
Ans. (b) : TR § 98 # TWE de W F&S 15° & &
W g § 1 e F giy aur anEeR ¥ gfvaw @ s
e W YAH 15° & 9% WG TG § 1 90 H g g S

21 anw:&%o?ﬁmmm 120° &t
R T T q97

1°
=120°- 82— =37
2

% (T 2R

37%0 :37%x4=150ﬁ‘-|=|z (= 19=4 fr) A 2,30 s

T (12 a0 + 120° g SRR W WH" 99
~12.00+2.30 = 14.30

d: foehed (b) W&t 21

38. RA o HIA-QF (STZH W) o Hag | fFAfafad o

W HE-T/R - HIT TE §/8?

1. |HT 9T & TQ Uk wew qHT R

2. 3izu 3R e Fruage X AeET fuagg &

o= wrer-am 2
3. AR e gy (mEuEdl), stumdl. ¥ ue
uter TS W 2
e fau 7T e 1 TENT Y WE ST g
(a) F 1 (b) Fad 2
(c) e 1 3 2 (d) Faa 1 3 3
CDS Exam (II), 2021

I (a) : FHeT | W& 7, Hfh 9Rd & THY &7 & [T Th &
S T ¢ |

fopeq 2 /@ 8, Fifh sicAH AR it aerdy fioage &
forg off ©s & Ams T 2

fophed 3 ored 2, it WA AMe &HF (IST), GMT §
5:30 512 & €, i’ T

39. The Indian Standard Time meridian does not pass
through-

AR Wk T Y AT & Tt § -
(a) Andhra Pradesh/3TT=¥ e
(b) Chhattisgarh/ataTg
(c) Maharashtra/HgRTg g
(d) Uttar Pradesh/3X =Y g
UPPCS (Mains) G.S. I* Paper 2010
Ans. (¢) : ST T & R G |

40. Which one of the following place is located nearest to
the Indian Standard Time meridian?

frefafea @ 9 &9 @ T ©H 9ORdE =S J60a
TR o WO G 6T §7
(a) Bilaspur/f@?ﬂ'?l‘ﬂ? (b) Faizabad/%helaTg
(c) Koraput/aﬁ'('l‘iar (d) Mirzapur/ﬁﬁﬂcg(
UP UDA/LDA (M) G.S. 2010
Ans. (d) : THHER QR wRfa aMs 99 amR & ol
EECER]

41.

The difference between Indian Standard Time and
Greenwich Mean Time is of-

R gt Jue (1.S.T.) Ue It ures aue
(G.M.T.) ® 7= UTAT ST &

1 . 1 :
(a) +4= hours/ +4% 5E) (b) +57 hours/ +5% e

1 . 1 .
(c) -57 hours/ —5% 2 (d) -4= hours/ —4% ra

BPSC (Pre.) G.S. 2002

Ans. (b) : ITIH T I A G |

42. 1If the Sun rises at Tirap in Arunachal Pradesh at 5.00
am (IST), then what time (IST) the Sun will rise in
Kandla in Gujarat?

Tfe TEUTere ge9r # feRw (TIRAP) § gafed 5.00 s

TrE: (IST) W ear €, @ oNa | hivgem § gared

fere w9 (IST) W grmr?

(a) About 5:30 a.m./aTTHT 5.30 HId:

(b) About 6:00 a.m./<TTHT 6.00 H1d:

(¢) About 7:00 a.m./<TTHT 7.00 H1d:

(d) About 7:30 a.m./TTHT 7.30 M

UPPCS (Pre) GS, 2010

Ans. (¢) : IRAT Twa FAf= § 5.30 Fver A @ W H
T gug 82°30' 7d (E) 29K 21 df 9 gf (o
yawT) R Ui (SRE) % St # 2 a0 S R 2, o 9|
UM Fa¥l § 5 9 Gag 8 o1 [oNE d I8 T 7.00
il

43. Which one of the following places is called ‘Greenwich

of India’? HF-AT WE ARG wT
H=ferer’ wmer Srar §72

(a) Rohtak/T&de (b) Avanti/3TEdt

(c) Ujjain/3ssi (d) Kurukshetra/$&&

UPPCS (J) (Pre) G.S. 2016

TR T e
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Ans. (¢) : S & ¥ & IO B AT & MOET H AT
F51g ged farg & €9 A S o471 AT Isoi B AR
& A off wa1 IO 1 TIA FA § @i Bl g
IsoH, feeell, SR, WY o AN § Jerenensit @ T
Al T T |

44.

Indian Standard Time refers to the local time of which
one of the following places in India?

IR e 9HE, IR o fAfeiad § 9 /e T

TR & T TG0 A oar 82
(a) Allahabad/3ARTETE (b) Bhopal/4raret
(©) Delhi/f&eett (d) Lucknow/ci@d3

NDA (I) 2008
‘Ans.:(a)@'ﬁ?ﬁmaﬁwaﬁl ‘
45.

In which of the following states of India the sun

appears first?/9TRd o 9o@ Uger frefafaa o & fra

T § g fed e 87

(a) Mizoram/fosiRe

(b) Assam/3T8MH

(c) Arunachal Pradesh/37&UTT=el EEN

(d) Nagaland/ATTeig

UPPSC Asst. Forest Conservator Exam. 2015

Ans.(c):WﬁF@%ﬁWWWﬁﬁ@ﬁéﬂT
2| Rl TS % ®Y F gHA WO 20 FEd, 1987 H g
ot | 3T T SR 2
46. The far southern most point of India is-

I T Gore et foeg ¥ -

(a) Kanyakumariﬂv?l@qﬁ

(b) Rameshwaram/Tl'ﬁ'SER'{

(¢) Indira Point/3f=q @MEe

(d) Point Calimere/@TEE AR

UP Lower (Pre) G.S. 2002
MPPSC (Pre) Opt. Geog. 2007-08

Ans. (¢) : TRA F G ol fog sEam-faeR &9 T8 &
Tg1 Frepler € i Ruq ‘3w wie’ 2, fY Rt we’
E URE W A & T I 8 9 F e o &
SR, fog 8% ST swiw W Red ‘wmgwd’ A1 ‘U
FHARA' ST § S aferg o7 # R 21

TG F oW 30 fog e 7 37% 3 ewiw W fud
e Wi’ 21 3w w g wd g e TS %
“tiwTar’ =1 TR wrar’ @ Seih qar 6 ereuee ew §
feor ‘ femfereg’ 21

47. The southernmost point of India, Indira Point is
located in-/9TRA T Fg¥ Tiewr # ‘gfew w@mEe’
frrafafaa o & waf feom &2

(a) Tamilnadw/dAHeTg

(b) Little Nicobar/S12T iR

(c) Great Nicobar/agT fF@R

(d) Car Nicobar Island/shX R €iv

MPPSC (Pre) G.S. 2005-06

‘Ans.(c):@'ﬁ?ﬁwaﬁwéﬁl ‘
48. Which among the following cities of India will have

mid-day Sun exactly overhead only once a year?

URA o ffefiaa § @ se-9 wgd o o o fadh e

TR WEATE Rt G Sk R o KX grer €7

(a) Delhi and Chennai/fSeeit T ==

(b) Srinagar and Darjeeling/4H W& FIfsfefT

(c) Hyderabad and Kohima/&etaTe Td =hifgm

(d) Nagpur and Kolkata/AM T Td EAREAG]

CDS (I1) 2012

Ans : (d) AR 3R Frerhar #§ a6 § fah us an qeag & gl
3% fR % TR B &1 Ffh AR SR FPrawE wh W@ b
a9 R 98 el 21 gF b @1 § a9y faed @ s W
TG A A 2| I T8 TH 9N & FHeh W@ F I W FH FW
g 21

49. A particular State
characteristics:

ORA 1 T oo e fafaraa fagmanst & g
g

1.

in India has the following

It is located on the same latitude which passes through
northern Rajasthan.

T8 I Y W R 2, S SO T ¥ iRt S
21
It has over 80% of its area under forest cover.

THFT 80% T 3T &7 a9 A=A 2

. Over 12% of forest cover constitutes Protected Area
Network in this State.

12% T 31k areifad & 39 U5 & ord & Headh
% w7 H 7

Which one among the following States has all the
above characteristics?

frrfefga T=al # F ®9-91 T S & T sl

fergraremedt & ge &2

(a) Arunachal Pradesh/37&0T=d EEN|

(b) Assam /3HH

(c) Himachal Pradesh / feH=ret BEN)

(d) Uttarakhand / 3TUETS

IAS (Pre) 2012

Ans.(a):awmwamﬂ@ﬁé, Sl URISEIE]
§ S ST 81 12% § A aresied & 39 TS & T &
Fead T F g TA1 39 TT B 80% U AF &F a7 R
& 3fla I 21

TR T e

20

YCT



ORA T A 21 YCT



.9 RS REBIEi et 50. Which one of the following districts of India is the
(et famedt. ) largest in terms of geographical area? .
drmferes &5 o ¥ ¥ ara & = el & @ e-
1. | fea wew e 55,673 1 et T T &7
i il qjl;' zgigi (a) Leh/oe (b) Kutch/&=s
7 2 5 44212 (c) Jaisalmer/STEeTHt (d) Barmer/aTgHR
5 e FI'@:!E' 240,908 (e) None of‘the above/More than’ one of the above
6 RS ST 3’42’239 Wﬂ’rﬁﬁ@ﬁﬂiﬁ/?ﬂﬁ’rﬁﬁ@@@m
: it 66™ BPSC (Pre) 2020
7. | R il 24,163 Ans. (a) : ST HIER ToF TAISA SAUFAEH 2019 & @€ 9
8. ferpn T 7,096 FTER T T A A T o R R o g AW
9. | SREVIHA 5| THR 8,3743 ez T SR S R T o o e i R A
10. | arm 1?113'{ 7,84,38 frora o el adum & sdimfers &t & 3 T 9T & G99 T2l
11. AMIcivs EAlRL 16,579 e 21 ﬂﬁ%ﬁwmma@mwwww )
12. | om M 1,96,024 T @i TaT SN 7 §7 Y S WE I B (b) A B
13. [ =& yew HATaTed 3,08,252 51. Dandakaranya region is situated in the State of/
14. | s@rs = 79,714 dERRTT & forE o # feera 87
15. | 9f3m ame CAGCAI] 88,752 (a) Odisha/3TfEwm
16. | wemer e 22,429 (b) Chhattisgarh/ SETE
17. W gHhIeT 22,327 (c) Andhra Pradesh/ 3719 EEN
18. SIS IR 1,35,192 (d) Telangana/%fFFTFIT
19. | wery i 3,07,713 (¢) None of the above/More than one of the above
20. | fagu ST 10,491 3UE # ¥ i TE/3w § ¥ U § e
21. | fHSIrH EATA 21,081 66" BPSC (Pre) Re-exam 2020
22. | Ao EI 1,12,077 Ans. (¢) : TSHNTT & IV GNG F TIENT RN F TH
23. | eqifsEm RCEE 1,55,707 am 8, e R sifeen (Hge, HesMiR, HemRe T
24. | Fles EURES 1,91,791 TATR), BAWTE (Foh, SRAR, ddarel f5em), sty waw
25. | ey wew I 1,62,967 (gt Tieradl, foremaagm, fasERe adr o Sipe) & T
(3THTERT) 89,078 i ferft. H hewr g3 @1 W UA-UvEH faER G
26. | T quTSit 3,702 480 foRH. Tam ITR-afRT faaR e 320 ot fEd. 7
27. A m 38,863 52. Which one of the following Union Territories of India
28. | dferrg EEH 1,30,058 is the gnallest in ter%oi;_rléz;‘r?ﬁyﬁ S
9Ra W =i @5“7151
W o hes I YT = 7fe & T BT 7
HE. | HE IR | e &It (T (a) Dadar and Nagar Haveli/a/eX T8 97R REK
Ll foeet.) (b) Chandigarh/9UErTE
L | ek 7 facet 1483 (c) Lakshadweep/@ra
2. SIS - 14 (d) Daman and Diu/aH 3R G
3. A AR AR | frerarar 603 UPPSC ACF-RFO (Mains) I Paper 2019
gl T A NDA (I) 2019
i CDS Exam (II), 2020
4. S SN 1,20,355 Ans. (¢) : F5 YA JoT H § AT Skl SN SIS #
HIHR (FrHepTeA) e ¥ T B 2
T (HTHelT) Fzenf war gher (ot fepelt)
5. EARC o8 96,751 .
. _ TEY Td TR gaelt - 491
6. REERL RERRY 490 5 114
7. TS FHAR 32 Ty 3ﬁT H 112
8. |emweAm @R | U s 8,249 SEE] - 32
GEAEI i~ FAAE T F I TE TR g q97 @ SR §9 B
AT STEeR T S WG Saw s fEa e
TR T e YCT



53. Which was the Capital of Andhra state when it was
made a separate State in the year 1953?
o9 1953 W, W&l AT T Ueh 3T TS oAT, el

IHRT AT I o= 2

(2) Guntur/TeX
(c) Nellore/AeaR

(b) Kurnool/g=a
(d) Warangal/aiTet

(LA.S. (Pre) G.S. 2008)

Ans. (b) : 5. ot 4. Gffd T T H AE 3MUR W Mo
T B sEER wfear e iy ¥ s TsT & aq]
ot A eTEeE RY R feEn W o e & Aga #
SffETe IR g3 56 A o RO 3FYH & a8 15 fawwR,
1952 I Ut &t Tee] F g & W A_e di R g
g TN BAEEY U, 9EE | aq] el F v v T gus
ST F AU R & | ST FER TH A T (I ok SR W)
Y WA F A (1 FHH, 1953 FN) g3 a¥ 1953 H
ST ST TST H TG Fricl bl I T FAAHA |
Y JAT F T TR 21 Y T F AT T
% HNU EUAE Y T H HaT a9 a9 & TS QI TS
TegrH eTEdt grfhl g & § oty Wy W@R A diF
qeenfEt Sifvd & 8, favRaTen S FEfs e,
smEdt S faerlt TS, Fa S s asEE

54. Which of the following states was founded in the year
1948?/Ermi%f&§afrﬁ1-gamwarmaﬁ 1948 W gar?

(a) West Bengal/af¥=™ st &l
(b) Assam/3TIT
(c) Punjab/dsiTel 1
(d) Himachal Pradesh/fgAr=rel T3 H
UP RO/ARO (M) G.S. 2013

Ans. (¥) : {53 T3 g3 faeeq § g off T=7 1 T 19488
FE R T 21 Sef 3 IS H TS Y 39 YEN 2|
TR o TSI TS T

. e - USF gieA sifafEm % ded 1956 #
Eseoie ~ 1537, 1947 ®
CEIC] — 1 TR, 1966 ®
feamea e~ 25 SWad, 1971 ®

55. Silvassa is the capital of/facTamaT TsTer=i & —
(a) Daman and Diu/SA9 T &9 &
(b) Dadra and Nagar Haveli/2&{ Td TR gt st
(c) Lakshadweep/cieTsrd aht
(d) Arunachal Pradesh/37&0T<ct TR H
UPPCS (Pre) G.S. 2007

Ans. (b) : T¥TEH §, Ry, <X T AR gaell & TS
off| FAE § 9N § 3T e W ¥, S e 8-

E -+ RSIE el

TR (i femeft.)
JUEHH N FER 9 SR 8249

R

qUENTE JUENTE 114

TEq AR AN gl 603

TH AT 3N €

feeeht % et 1483
g 3R FTHR SR (f SelE) 120355
ST (BT redi)

[Gi=ER FHATT 32
gt et 490
TR I 96751
56. The largest Union Territory of India is

TR T Fod ST 69 T &

(a) Daman and Diu/cH 3k &=

(b) Puducherry/gg=%

(c) Delhi/faeeft

(d) Chandigarh/=vElTg

UPPCS (Pre) GS, 2014

Ans. (¢) : JTHA #, YRA & oY §21 9 T &F Kool ol
T AT 1483 a7 . 31 949 § 9URT F GeY ¥ 99 U5
&7 S HYAR 1203553 fopdt, 1

57. Delhi is- / feeft &-

(a) a state/Tsh TT

(b) a union territory/Tsh 5 TIT EEN)

(¢) an autonomous council/Tsh Ayt Wﬁ'ﬂa’\

(d) None of the above/?z'q?i—rﬁ T HE T

BPSC (Pre) G.S. 1997-98

Ans. (b) : el 9RA & 313 Fswnfad wewi # ¥ w21 699
dfaee duee sfafEm-1991 g @9 TsT & fiedl @
T TSEE & @ el I gHe [T fqum @ ek
HRRyR 1 Systy fhar e @1 709 SiaEe weeE g e
A wfte=dt (qg=) faum qwed & fraffed wew=i & apufa
% frafes avea & wftafeq fear man

58. The National Capital Region does not include parts of-

Tt Tt O B T afmfea g —

(a) Haryana/gR&TTT 1 9T

(b) Punjab/dSTal I AN

(c¢) Rajasthan/TSTEATT T 91T

(d) Uttar Pradesh/3tX TEIT T 9T

UPPCS (Mains) G.S. I* Paper 2008

Ans. (b) : TFT TSEFT &9, ASHT a8 % S8R 31 A,
2017 6 AT 54884 o fH. & (AT guEE &E qie)
¥ foega ?1 guA eRamm (25327 & fal), TeRAM (13447
it fopelt) R IR MR (14826 o fopeft) qem wegel we U
&7 facelt (1483 =i foft) wftwfer 21 ov: dow To9 T
TG &9 (NCR) &1 fgean 2f 21
A: 39 YR faHeT (b) T 2|
Note:— NCR &7 & &F%c § e armed aRamm (46%,
13 f3t) T Teae 3T T_ (27.2%, 8 i) & Afafw 3w
Y % 4 3 ol HH: GEHAR, ", 37elg 9 fsEiR
I IS F H AT F T 21 T (24.6%, 2 )
T fReelt (2.7%) &1 21

TR T e
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59. Sarnath is in the State of- / AT feera §—

(a) Kerala/& | (b) Maharashtra/7gNIg ¥

(c) Gujarat/Tsd | (d) Uttar Pradesh/3W Y31 §

UPPCS (Mains) G.S. Ist Paper 2004

Ans. (d) : G I Y29 H gorl % g9 R g1 5@
WM W T g5 F o ST S B wow 3ue
fear or, o ¢ erdersh wad=" & 99 9 ST ST @1 G
F FOTH O e & 98§ o S S @) gy § o
e 3Ele HEH 4 g2 @ 128 P I g (yHuiE) sig
WY N AT S o1 9Ra & TP fag arang fRuq ewie
* g @™ # oY o 1 3 9RT TWHER 7 26 T,
1950 & TF fog & €9 § U@
60. The city of Ranchi is in/Tref IT&X o —

(a) Bihar/f@R &

(b) Madhya Pradesh/H&q e H

(c) Odisha/3Tdm &

(d) Jharkhand/aR@Ee #

BPSC (Pre) G.S. 2007-08
Ans. (d) : T 36T FRETS U7 § & 21 98 I FREUS
TS & qoYET 21 39 IEve Y Rmen & of 93 & S
21

61.

Which among the following is the capital of
Jharkhand?/3@UE TSI &l TSI ﬁrr:ri%—n%?r T

&= W R?
(a) Jamshedpur/ﬁ'ﬂl'iﬁﬂ'? (b) Patna/d9e-T
(d) Dhanbad/g-d1x

(¢) Ranchi/Tdt
Uttarakhand UDA/LDA (Pre) G.S. 2006

Ans. (c) : ITIH T I AT G|
62. Which one among the following States is smallest in

area?/f-=T Tt H | TeRuenT othet To 7 7

(a) Andhra Pradesh/3TT=¥ EEN|

(b) Gujarat/TSId

(c) Karnataka/&esh

(d) Tamil Nadu/df#errg

IAS (Pre) G.S. 2003

Ans. (d) : 3T4F f&@ T8 9 H §ABA F SMER W T A

9 39 THN —

3Ty w39 — 2,75,045 = e,

T a7 & 1%

foaiea a1y wew

T GTHEA — 1,62,968 =t fel,

T — 1,96,024 3 bt

FAleh — 1,91,791 =t e,

RIS — 1,30,058 3 fepets
63. Cherrapunji is located in-

SRTGS Srafedr ¢ -

(a) Assam/3T T T<F | (b) Manipur/qﬁ]TEI T ¥
(¢) Meghalaya/Feid T8 & (d) Mizoram/feiRe T=a #
BPSC (Pre) G.S. 1996

Ans. (¢) : IUYST, Hererd § R 8, T8t o 1170 9, ot
B 21 AR | uee Sgsh fava # weifess @t aren @
o1 3 I8 T AR & G 8 T B

64. Arrange the following Indian states in descending
order of their regional size-

ORd & fAfafaa T &l 59 &sfig e &

EET HT U safeer shitsTa—

1. Andhra Pradesh/3T=g S&¥T

2. Madhya Pradesh/H%d EEN

3. Rajasthan/TsT&Iq

4. Uttar Pradesh/ST 9291

Choose the correct answer from the code given below:

et fod T e § | wE ST =a A

(a)3,1,4,2 (b) 3,2,1,4

() 4,2,1,3 d 1,3,2,4

UPPCS (Main) G.S. 2003)

Ans. (b) : J¥HA H T TT T B 3T SFHA & MR
T 37 A 39 TR & -
TSTEAF-HeT WST-371Y TS9-IW 39
ara: fohed (b) @& 21
T FAOE H (2 5, 2014 F) Y T F eI gAR
B T [T o W F BV RE T T B ETHA 5
HYUX W TR FY 39 THR g- ToRIH-HA JRT-3W
TITT-3TY X

i IR SAwa aret TSA H ST HH-
T &STtheT ot fere,
] RSISIEH 342239
e W WW 308252
i Hely 307713
. SIECN 240928
65. Arrange the following Indian States in descending

order of their geographical areas:

aRE & T ol ek AT &
Ued U | Safied siu—

(D Rajasthan/TrsT&AT

(I1) Tamil Nadu/df¥erTg
(III) Maharashtra/Hg Y
av) Karnataka/&esh
() L 10, UL, IV

(o) LIL IV, II

(b) 1L, T, TV, 11
() ML, 1V, 1, 11
MPPSC (Pre) G.S. I* Paper, 2016

Ans. (¢) : T 3T T T4l & &F%d (92d %9 H) (A g1

I AT (a1 ferTi0)
TTEH 3,42,239
WY 3,07,713
FHlh 1,91,791

AATTE 1,30,058

Ae—9RA H Fol GIhA 32,87,263 a1 fHdl. B A@ faea &
T EHA BT 2.4% 21 IR F1 fava § &t 1 gy T Hiedt
M 7

TR T e
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66. The area of India is 2.42% of the area of world, but it

has-/STR& <t TER & & 2.42% %,

T $EhT-

(a) 16% of the total human population/¥¥qUi =& S
16% SEE §

(b) 17% of the total human population/¥¥qUi =& ST
17% SHEE 2

(c) 18% of the total human population/¥¥qUi =& S
18% SIEE ©

(d) 28% of the total human population/S¥qUi =& S
28% SHEEA

BPSC (Pre) G.S. 1994
Ans. (b) : 9T & &% 32,87,263 & fHul. 8, S foea &
T GABA BN 2.42% &1 TG F GBS F MER R fava §
TiFat M 8, ST 39 BN & 1. §H, 2. HEl, 3. G T
IR, 4. 99, 5. S, 6. efean, 7. WA, 8.
ST T 2011 3l STV & STTER ARG &1 FoA S6E
1,21,08,54,977 &, Sl faed &1 o1 S=@@ & 17.50% 2
SAEE & YN W 9 i f5vd § g0 @ 81 SHEen %
YR W fIva & 5 7@ W §-1. 9, 2. 9N, 3. G THA
SRS, 4. SUSHYAT, 5. WfehE |
67. How much percentage of the total land mass area of
India is in Rajasthan?/STRd & T YHRT T
gferoTa & T o §7
(a) 10.4% (b) 7.9%

(c)133% (d)11.4%
RAS/RTS (Pre) G.S., 2016

Ans. (a) : TSI 59, 9RA & &%l i g ¥ Tgell T59 @

T P GABA 3 A 42 TR 239 0 HAE. g1 S, qRA B

Tl & H 10.41% T

68. Which of the following statements are true about

India? Use the code given below to select the correct
answer:

frfafaa oAl § 9 %A 9 9RA & a) | T& 8?2

T I o TG T HN(ARTT He T SUANT FI(WT :

1. India is the fifth largest country of the world./ ¥Rd
ferear = wi=raT 2T 39 2

. It occupies about 2.4 per cent of the total area of land
hemisphere./58 TITHISE & ol &A% H T 2.4
sfere s« Sfegd fhU gu 21

. Whole of India lies in the torrid zone./¥H=1 HRd 3T

iy § o 2

82° 30’ East meridian is used to determine Indian

Standard Time./82° 30" qdf F ITAN ARAT

e T B iR w0 o e e s

Code/he :

(a) 1 and 2/1 37 2

(c) 1 and 3/1 3 3

(b) 2 and 3/2 3R 3

(d) 2 and 4/2 3R 4
UPPCS (Main) G.S.,I- Paper, 2006
Ans. (d) : YR 999 &1 GAat Se1 I 21 EhA F IR
AT g 1 diifers &hel 32, 87,263 &t fHl. 7, S
foed & F &AFA F 2.43% &1 TG IV qA T A
Ffeamit § o 8, 7 6 3907 Ffesy #1 82930 g&f e
YA ARATT A G99 @ iRa S & faw fean S g

69. The correct sequence of the formation of the following
States in descending order is :

freaferfiae T=ei on foeior it |81 2TeiEl shl 8—

(a) Maharashtra, Rajasthan, Haryana/qgT¥, TSTEIM,
gRamom

(b) Haryana, Rajasthan, Maharashtra/RAT0T, TS*AM,
HeRTY

(c) Rajasthan, Maharashtra, Haryana/Ts®I[, HINY,
g

(d) Haryana, Maharashtra, Rajasthan/8R&M0T, HENIY,
ST

UPPCS (Mains) G.S. Ist Paper 2013
Ans. (¢) : TSI, TeNY q91 gRATUT T Th ToF & &7 §
TGS WgHia SEY: 1 AERR, 1956, 1 T, 1960 3R 1
TR, 1966 FHI FaT|

70. Which among the following Union Territories of India
is largest in area?/9Xd

T & i &% | T T 872
(a) Chandigarh/v€lTg
(b) Lakshadweep/@&igrd
(c) Andaman and Nicobar/37U€HMH Td IEEICIE
(d) Daman and Diu/3A9 Td &4
UPPSC Asst. Forest Conservator Exam. 2013

Ans. (¢) : faFcy ¥ @ T Fsunead W & AwA
frmfefea 8-
EUS2) AT (a7t fertio)
e fHER €9 99 8,250
ELEIDES 114
-4, T T AR gl 603
I 32
71. Arrange the following states of India on the basis of

conferning statehood (starting from the earliest)/ X

& f=fafae =t &, 3% TS &1 &1 WeH fhr o=

o TN U THASG KT, (STTEAT § TR &) ¢

1. Arunachal Pradesh/3T&0T=el 9&9T

2. Nagaland/:ﬂ'fl'la?

3. Sikkim/fafesa

4. Meghalaya/ﬁgﬂa'q

Select the correct answer using the code given below :

e fo2r & e o wE o wE S g

(@ 2-4-3-1 b 2-1-4-3

) 4-1-3-2 (d 4-1-2-3

CDS (IT) 2014

Ans : (a) YRA & Ffafad T & 3% ToF & &R I8H 5
I % AR W HAeE WEY 3H JHR -ANETS (1963),
[ETeAd (1972), Fafepd (1975) 3R ST 9237 (1987) |
72.

If you travel by road from Kohima to Kottayam, what
is the minimum number of States within India through
which you can travel, including the origin and the
destination?
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i AT FRITAT & HRIZAT Tt AT TS A A & S,
AT MUt T T 3R Tae T it et wRa
I FH—G—FH R Tal | | Ereht [T EATT7
(a) 6 (b) 7

(c)8 (d) 9
IAS (Pre) 2017
Ans. (b) : T 379 HIRAT ¥ HIgAH H AE0 TS AT F HLd @
T AR g T 3R TiqeT T H A R & i B
¥ HU A Al (ATls, 3rqw, ufyem &, eifeem, et
Yo¥T, AHEIE T i) ¥ iRt ToRAT 98|
73. TaU gu uAfes § we yte & 8-

(a) TUETE
(c) T TE AR gael

(b) 3F & &9

(d) ufog=d
IAS (Pre) 2001

Ans. (¢) : TG i e T AR gl deenfid & 2

9T H 28 TF UH 8 Fx WA W 2

SThA & IMYR R Tog og T AT o 3UsHH F fFhan

29 9YE 791 G DI R 2

74. Match list-I (State) with list-II (Capitals) and choose the
correct answer using code given below-

geft-1 (@) & gEit-11 (@) ¥ gee st

qer e fod T g ¥ W s ga-
List-1/g=ft-1 List-1I/g=-11
A. Assam/3T8MH 1. Shillong/fTaiT
B. Nagaland/:ﬂ"ﬂﬁﬂg 2. Kohima/sifgar
C. Arunachal Pradesh 3. Dispur/f&8qX
ITEUMEA W
D. Meghalaya/ﬁgﬂﬂq 4. Itanagar/‘sta'l?‘ﬂ
Code/%< :
A B C D A B C D
@ 2 3 1 4 ® 32 4 1
c) 4 1 3 2 @ 1 4 2 3
UPPCS (Pre) G.S. 1994
Ans. (b) : T8 AT 79 39 THW 21
gt - 1 et - 10
ERiL feaq
anetve FHifer
ST J39 ECICHTS
HETer et
37: fasheq (b) & gAfed 2|

75. Among the following cities, which one is at
the highest altitude above mean sea level?/fe=T TR W

¥ UTe AOEAS ¥ Tt g erftreRan &7
(a) Bangalore/aTailt (b) Delhi/f&eet

() Jodhpur/Gﬁ‘f'Ig'( (d) Nagpur/drTqX
(IAS (Pre) G.S. 2003)

Ans. (a) : TS R T TR F AT 95 99 § FR 3
TN B

T - FeTE (WS 7 9)

AR 920 =i, (TT)

faeett 214 Hi. ()

SR 231 . (e

AL 310 HI. (TTHM)

76. M Ush UH UF TT-&F T YU HIAT =& &, =i
34N° 3R 77°E W fera &1 @ frafeafaa & & fve
Y TH- § T kT ISAT 9418 G2
(a) 37U 3R FFER fUgqg  (b) AT

(c) g (d) R
CDS Exam (II), 2021

ST (d) : 31 3T 2019 H TAERT Ueh h5MAd TS
34° 3T ewgEr qn 77° gdf IR @ AER ¥ ORAT 2
HENE e Td SR S % ued o o § R ww
e gt 21

o TR F & # 9 F &9 H ff F S 2

o @ & ‘TeT WA’ Fedt B |

T ARV AT FIR 8 3 98 Yot W Gl 3 3N Tl

I e o § ¥ TS 2
77. Match List-I with List-II and select the correct answer
using the code given below the Lists :

FAi-1 = GE-11 & 99 gafaa sty 3| gfe=t &
et fow Q. e w1 FET w WE ST Y

List-1/g=H 1 List-TI/g= 11
(States of NE India) (Location in Map)
(VTR o gafae =) (T W Sraferfa)
A. Tripura/Brqa )
B. Mizoram/fusiw ,J/(D
C. Nagaland/ATTA g K;f'ﬁ L
D. Manipur/ﬂﬁ'lg'{' ) ,—J ® /
Pt
\a\;\f} <’
r
Code/%< :
A B C D A B C D
@2 1 4 3 b2 4 1 3
©03 4 2 1 @3 4 1 2
CDS (1I) 2017
|Ans. (d) : |
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o FIQU U9 IERYT qg1 WER F Ad At b wed fom 7
T8 fF T T vy ¥ o qgr Sw-qd § orem qur gd #
fosiT ¥ S[1 g7 21 A H gHe emafefy (3) 2

o ISRA qd 3R R & wmR, e # siecw, W ufEm
% B, S H oGy Ay SO-qd § AT 21 e W g
sfafefd (4) 81

o ATVE & UfHH o SR H 37, 7@ H WER q7 aRyor &
HfoTq 21 TE% Q@R § SRUES SIW 81 AH WO
At (1) 81

o TR & & # =R, IfRyu-ufyw § sww, IW F A
I R o eRmrum § fee € 9 wosge
sfafefd (2) B

78. Match List-I with List-II and select the correct answer
using the code given below the Lists :
Feit-1 st Geit-11 & /g GaieTd ity R grost &
et faw T e T FET W WE SR g
List-I/g=i-1 List-TI/g=R-11
(Region/@ﬁ') (State/TSA)
A. Baghelkhand 1. West Bengal
FHTGTS afer s
B. Kauttanad 2. Madhya Pradesh
FETE e YaT
C. Saurashtra/ﬁ'{'l'g 3. Kerala/3a
D. Rarh/l@ 4. Gujarat/TSHId
Code :/%2 :
A B C D A B C D
@2 3 4 1 b)y2 4 3 1
)1 3 4 2 @1 4 3 2
CDS (II) 2015
Ans:(a)ﬂ'ﬁﬁﬁﬁﬁﬂ"’qug\—
ei—1/(8) 11/
THAGUS e WS
Fezae A
sy TSR
T8 qf¥es e
37: fohed (a) T Ao 21

79. Consider the following Indian States:
frrfafiea ardE T W e St
1. Chhattisgarh / SWHTE
2. Telangana / RISRIC)
3. Andhra Pradesh / 3Ti¢T 31
4. Uttarakhand / 3T0GE
5. Tamil Nadu / Ti¥erTg

Which among, the States given above are the largest
and smallest respectively (in terms of geographical
area)?

Iugeh TSEl B A RA-R A geew 3 ergen §

Ans : (a) RU U fbedl § g0 ToT (AR &9 & MR
W) AT Y 2| SEfs eH To9 STH@UE 2| aed §
GG H GIE a1 ST drel Tod TS (342,239 ot
ferft.) o7t =™ GGt aTel o e (3702 o ) 21

T AR (ot feret.)

ERIERE 135,192

GRIGH 112,077

3Ty T 162967

IETE 53,483

IEKEIES 130,058
80. Consider the following places of Kashmir region :

‘qT -
1. Srinagar/ 4R 2. Gilgit/frafi

3. Kargil/®RATe 4. Banihal/af@ret

Arrange the above places from north to south using
the code given below :

fau He = g W Swden T oW I 9

T Tt AT SHASIg, R
(a)1-2-3-4 (b)y4-3-2-1
(c)2-3-1-4 (d2-1-3-4

CDS (II) 2010
Ans : (c) BT TT F¥HR &7 F WM H W T R0 W
U 39 JHN 2-Aaie-sriid-Tm 3k afee | seaeda 8
f& 1998 # SR & # & YRA 3 TfRea & I & qeq
5 gaT o fowd wfhsaH @i g @ @ ugt o
81. TeU 7T U W UTiS={l 69 TSI-&F & A, B, C T
D ¥ Tagifera fafrer siqwmeEl it 39 Heifera =t |
gafer i For sgomE @ geft & <fer fig e e
T JART & TE IR YT —

-4, D-3
(Pre) 2000
Ans. (a) : TUS={ &1 &FiF affeeor orqq o9 # sfgda 81 =8
TR A # fyafse g, o e § -

e X ERIC) Sraferd T

(TfeTeh 8751 o S W) ? IW@;?ﬁ) dftrerrg, (4R el ¥ Fussa
(a) 3 and 4 (b) 3 and 2 ’ R 3{;
(c) 1 and 4 (d) 2 and 5 5l
cps (1) 2015 | |2 9 A
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3. afresl 290 ey (cfarl srie
fSrer @ forT gam)

4. 99 20 3Tty w2 (P e et
forr g3m)

82. TN o Hhed ®WR@T A | 1, 2, 3, 4 3(ht &
fe@mu U =W eE S e § —

(a) 9TeTIY, HEHMI, 3TEHIER 3R TSIy
(b) HEHHI, ST, SIS 3R S[AMTE

(c) TG, ST, qof 3R 3Ahar
(d) STEHEETE, FEIRY, TR R e

IAS (Pre) 1998
Ans. (b) : IR & T oW F AAfe § sifed 1,2, 3 T 4
foreg ST WEWHT, T TR, TSI T4 MG I ST &

83. Consider the following features of a border district of
India and identify the district using the code given below :

WRA o Teh et et st frafefae fafdeanst w
forom s ofit @ e fau 7@ se &1 w&T =
39 f¥ter =t ugenfa

Situated at the height of 10000 feet, which is enchanted
with scenic beauty, the district is surrounded by two
nations in the north and south-west. River Nyamjang-
chu runs through it. Potato, maize and millet are the
main crops of the district. Besides monasteries, tourist
attractions of the district and its surrounding places
include Sella Pass, P. Tso. Lake, War Memorial,
Jaswant Garh, etc. Losar is one of the prominent
festivals of the district.

10000 HE i HoTE U NERAA, Yrepfaeh Tewal &
mwéﬁwwﬁwwaﬁ?‘qﬁm—mﬁ
2 TE W BT g 1 A - g T §
3, WA 3R SaR-ae 36 e &t U wee g
Sl & SAfalieh, 3@ e iR 39 sauTE & T &
ydeeh ATRYUT W Ter ure, e @l Ak, 9T AW,
TEE g Tl YW § A 3W e % e
R § | T 2
(a) Lohit/eifga

(c) Kangra/&iTg

(b) Tawang/deiTT

(d) West Sikkim/af¥=wr fafem
CDS (I) 2010

Ans : (b) TEUTEA YT H q@M AT ST 10000 FE W Har

R fod 31 S ek el § HAgTY B 4 aren &1 T

T&T BYA SR, ST, 310, Werhl 3 81 fafd & f5 aR

= et 3 7@ o § ¥ 0 2

84. What is the correct chronological order of the

following states as per their areas?

A & AR frAfefaa et w1 Wt AaEr
7?7

2. Bihar/ffRR
4. Uttar Pradesh/3T 5231

1. Andhra Pradesh/3TieT J231
3. Madhya Pradesh/Aed S&9T

Codes/< :
(a)3,2,4,1 (b) 1,2,3,4
(c)4,3,2,1 d 3,4,1,2

BPSC (Pre) G.S. 1995

Ans. (d) : FIAF SHet & AR T F1 B9 e 2-
PEt SsTtheT
e T3 308252 fepet.?
IR T2 240928 fepeft?
Ty T_Y 162967 fopeft?
B 94163 fepHt.2
85. Which are the northernmost, southernmost,

easternmost and westernmost landlocked states in
India in this order with no international borders.

o i el ¥ o, Weag TS § SF-1 T

e ¥ Stfrean e, 2ol wdf aer ufinf e g ?

(a) Himachal Pradesh, Tamil Nadu, Assam. Gujarat

(b)Haryana, Andhra Pradesh, Assam.
Pradesh/gRAT0T, 3T 29T, 376H, 7eF WY

(c) Himachal Pradesh. Kerala, Mizoram, Gujarat/f@amel
T, R, e, e

Madhya

(d) Haryana, Telangana Jharkhand Madhya
Pradesh/ , FREUS, ALY ww
Haryana PSC (PRE) 2021

Ans. (d) : B SRITE SRt ¥ o, woeg Tl B 9RA |

sifteae Iad, <R, gaf qor ufaed wsa gRamom, de,

F@UE A1 HET NS B |

o TRATN & Hared Ts- U9, e WY, W R,
feeelt (F.9M9.) 7 et 21

o JATHT & WiaTerd Tsar- 31y Y29, Fics, TNy 9 SRS
o TRWUE & Hiuradl wea- fogR, ufvew sma, safesm,
FATE T W = 2

o WET YA & HiHTACl TeA- I TRW, TSRYH, TSN,
TR A THEATE 2

dre:— qRA & R 390, Rl gof o aEeh Ty St

WU FA: AL (H.IMW), veHH FEER 9 T
(FIMI.), SROMEA T T TR & |

86. Out of the four southern States : Andhra Pradesh,
Karnataka, Kerala and Tamil Nadu, which shares
boundaries with the maximum number of Indian
States ?/<IX ST @ AT=T YT,

3R afterg § | F= @, wew i e et

& ary e &2

(a) Andhra Pradesh Only/%?f Y T

(b) Karnataka Only/W FAleh

(c) Each of Andhra Pradesh and Karnataka/311 729 3R
FAles § ¥ TS

(d) Each of Tamil Nadu and Kerala
AerTE, S It B &

(LA.S. (Pre) G.S. 2007)
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ﬁimﬁamﬁwmélwﬁaﬁmwﬁm
Taifees 6 Tt i Gl F oW & ApT TR & T
TET TS T TS & 3T A11 37: I (c) T &M

87. Which of the followm% States border Uttar
Pradesh? ¥ I ‘Jé'?T *
Hrarerdf &2
1. Punjab/4sTa 2. Rajasthan/TsTE

3. Chattisgarh/SeTTg 4. Jharkhand/3R@Us

Select the correct answer using the code given below.
= faw T e w1 g @ wE SR g -
(a) 1,2,3and 4/1,2,3 3 4 (b) 2,3 and 4/2, 3 37 4
(c) 1 and 4/1 3R 4 (d) 1and 3/1 3 3
(TAS (Pre) G.S. 2005)
Ans. (b) : S Fo¥ U & W SeW F ¥ TH 21 THF SW
¥ fRume Yo, SUUEUS UE AU, SRl f wey oW ud
TG, @ § RN Td gR@ve a1 uEm § gRawm, fiwer @
Tore Rerd | e G S ST S G B Tt TE e 21
88. The border of Chhattisgarh does not connects-
7wt ST swafae =@ )
(a) Maharashtra/Hg g F 9g (b) Bihar/fS@R % 9q1g
(¢) Odisha/3TfEem % @MY
(d) Andhra Pradesh/3T% 31 & 919
UP RO/ARO (M.) G.S. 2013
Ans. (b) : SUHTE & AT fIEgR % WY IYAFTS T 21 I
fohed (b) T IW BN wEfE o A MY weAl & g
TAETE TS & T IS G o= 2|

89. Which State of India touches
boundaries?/HRXd <kl

ot =t ar &7

(a) Madhya Pradesh/Tea9T (b) Karnataka/&esh

(¢) Andhra Pradesh/3¥ T (d) Uttar Pradesh/3<iX EEN

MP PSC (Pre) 2018

Ans. (d) : TR U9 & HHAEA Tod— DA, T 29,
T, gRamn, ficet, Rame wew, s, feR, IREve|
TET WY Wt HET W o TA— SAE, NP, oA,
TR, I IS
wAleeh o WAl ToT—"gNY, Tal, doEl, STy e,
afeTg, |
3T Y91 | W Td— fferTg, fics, oM, e, SHeg|
I W 6 SW IR UST 1 d Siferhan Tsa B S )

90. Which one of the following major Indian cities is most
eastward located?/ﬁ(‘ﬁlﬁl‘éﬂﬁ TR

I AT T o 3tfres gd ﬁuaﬂﬁ?am@?r §?
(a) Hyderabad/2eTaTg (b) Bhopal/sdret
(¢) Lucknow/ai@-3
(d) Benguluru (Bangalore)/STTd& (STa)
(LA.S. (Pre) G.S. 2007)

maximum State
-gr T =T

Ans. (¢) : &3 ™ TR # AEfE ¥ @S 4 @Y g f6 W

Y F T TR AGES O g6 A R 1 e 7e

YA 1, FUAE AT bl T SICE Beflesh P ToreFT 2 |

91. Which of the following statement is correct?

o= et & i AT wE

(a) The border of Madhya Pradesh touches seven
states/Ted N2 & G T TAl F oW @

(b) Bhopal is located in the north of tropic of cancer/STaTel
e T % I A (@ 2
(¢) The border of State of Punjab does not touch Jammu-
Kashmir anywhere/9sTe Tsg i HH &l A SH-
FER G T8 e
(d) There is no National park in Arunachal Pradesh/
IRV JU H HIE THT I AE 7
UPPCS (Pre.) G.S. 1993
Ans. () : ST & (1993) § 7ET YS9 & G 9 AT 9
ot o g ol % gu @ S & FEOT AdAe F e
WY # g ue TS (39, TORYM, S, WeNy,
TATTE) T @ft &1 Aared, Heb W1 F &R H fRegd @ welh
IR Jo H & UHE Uh e IET ue 9 aRfeT I
e Re 21 UST TS G S v HEER Y e 2

92. Assam is surrounded by how many states and Union

Territories?/ %A Td hg
yfae st | Ry g 72
(@) 6 (b) 7 © 8 (d) 9

BPSC (Pre.) G.S. 2002
Ans. (b) : 3TEM TF I UR=m dmd, T, By, A,
TR, TS, e WA 74T Wi U i F S |
A R R G2 St o S o o e § e 8

93. Which one among the following Indian States shares
boundaries  with  the largest number  of

States?/fF=fafga & | wA-ET T

Wu@nﬁu@ﬁﬁiﬁmﬁﬁw%?

(a) Madhya Pradesh / T&9e¥T (b) Chhattisgarh / SHTE

(c) Maharashtra / H8IIE (d) Assam / 3A&H

CAPF (AC) Paper-I 2012

Ans. (¢ & d) : 3EH F G 7 T H GEEST T @5
TRRE & 9 6 TS ¥ wediae & diw 7 s 9, ufym
e G 5 TS W, oI WS G 5 Usd ¥ adn
T WY A G 5 T g fierd g el yeea § ogne
TG TS YA G BT 6 T 4 T § Fyerhr o)

94. Which one among the following States shares common
boundaries with maximum number of other States?

frrefafaa Tt § 9 form T &t Hiand e aeat &t

IR HET o |y Wreft 2

(a) Madhya Pradesh / #&4 EEN

(b) West Bengal / 9f&H siTrel

(¢) Chhattisgarh / STHTS

(d) Andhra Pradesh / 3T S_¥T

CAPF (AC) Paper-I 2013

| Ans. (c) : 3TIH T i AT G |
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e o | e @ Heg (R gU) WRdtE
(frft.) |

ARy | 4,096 ufym S, M, HeeE, B
wd foeiRy

Eicl 3,488 e, Rued geE, WS,
fafyrn wd o= Yew

qifee= | 3,323 TERE, T N HYHR, U,
TSR TS TR

et 1,751 IAEUS, W NS, fUeR, ufm
CUISRCCREIEE R

AR 1643 FEMEA  J¥, AMATS, AT
LEREEI)

I 699 ufgm ama, fafeew, sam wd
TEEA JIT

M | 106 SEALE]

HeT 15,106 | AIE:- WETAT: WA T I
Hrar ST 15,200 TRt wT
T &

95. The boundary between India and Pakistan was

demareated by-/HRd 3R urfeRtar o ofer | frenifa
wt g efi—
(a) Durand line/SW0E @1 g
(b) McMahon line/HehHg 1@ g
(¢) Maginot line/FTe Tar g/
(d) Radcliffe line/ASfFa™ WaT 50
UPPCS (Pre) G.S. 1996

Ans. (d) : HeRTTET @1 — I8 99 701 IR & A" W g

Apded s)T ifd & T Mt A T 1914 FH 9Nd &

FebTell fofesr TR o fosad & o= fymen gosiar & e

e # 37 ot

irfiate Far — w9 it s % fiw

Yot @1 — 9T 1 WM & 9 15 SH, 1947

W faRa (Cyril) efFrs g/ &t T o)

U W@T — 9IRA T M & g W A 0e

SR T 1896 H nfid &t et off |

AT Y@ — FH+ 3R drdvs & <= #

96. The Boundary line between India and Pakistan is an
example of/ WA TAT TR & Wead Ww-Wam U&h
SR &~
(a) Superimposed boundary/3TEAIfd G 1
(b) Antecedent boundary/Jaad ST &

(c) Relict boundary/37afTg €T Sl
(d) Subsequent boundary/J%adl ST &

MPPSC (Pre) G.S. I Paper, 2016
‘Ans.(a):@'ﬁ?ﬁmﬁwéﬁl ‘
97. Radcliffe line defines boundary between-

Yeforr g diur freriRa et & -

(a) North Korea and South Korea
I FHIR wd afror FfE & A=
(b) U.S.A. and Canada
TF T AR TG FART & A
(¢) India and Pakistan/HRd T UIfeh&d™ * o
(d) India and China/9Rd W& 99 & s

MPPSC (Pre) G.S. 2005-06
UPPCS (Pre) GS, 2014
MPPCS (Pre) G.S. 2005-06

Ans. (c) : ITIH T FHl T W |
98. The Durand line determines the boundary of India

with-/gig g fohaeh W wRa & &

et oft?

(a) Afghanistan/3THIIEI (b) Burma/amf

(¢) Nepal/aret (d) Tibet/ftr=ra

UP UDA/LDA (Pre) G.S. 2006

Ans. (a) : I9IT T N AT 3@ |
99. What is McMahon line?/ HeRHE= TS o1 &7
(a) India-China border/HRd-== €T
(b) India-Nepal border/RA-"dTeT AT
(¢) India-Pakistan border/Ra-HTfeh&d HHAT
(d) India-Bangladesh border/TRA-STEATRYT AT

67th BPSC (Pre) Re-Exam
MPPSC (Pre) G.S. 1999

Ans. (a) : ST T F TR 3G |
100. Consider the following statements:
fr=fafad et W faer witv
1. Assam shares a border with Bhutan and
Bangladesh/3THIY, T T9T SITeQy & Wash § @
EIRd
West Bengal shares a border with Bhutan and Nepal/
U S, e q qure d Sel § @ gen g
. Mizoram shares a border with Bangladesh and
Myanmar/ﬁﬁﬁl'q, TRl q91 AR H del ¥ o
7am 21
Which of the statements given above are correct?
Sudwh wUHl B W R Tl E?
(2) 1,2 and 3/1,2 741 3
(b) 1 and 2 only/%fﬁl?[ 1791 2
(c) 2 and 3 only/3dd 2 T4 3

(d) 1 and 3 only/3adl 1 T4 3

1AS (Pre) G.S. 2006
Ans. () : 9 # AT gl @ o 15200 . 2
R F FA AT G F dWE 7516.6 A 1 9RT F
SW-UyT H WIfhEae qor SAEMEAE, SW H §4, S a9
M R qd H AR a4 IRy @1 9Rd $ gead o
AT TN ITARY & WY AT Gad BT STHEMAEE
Y 21 NG H ST G o 3R Ty TS 39
THN 8-

TR T e
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102. Which among the following states of India have
common borders with Pakistan?/feferfaa & @ 9Ra

o for Treet ant HfiT uTfeRear ok arer |t €2
(a) Jammu and Kashmir, Himachal Pradesh, Punjab and
Rajasthan/S-HvHI, feameer YT, TS 3R TSTeH
(b) PunJab Jammu and Kashmir, Rajasthan and Gujarat/
o, S FER, T S ORI
(c) Jammu and Kashmir, Punjab, Haryana and Rajasthan/
STH-HYER, U, BRAmT SR Te
(d) PunJab Himachal Pradesh, Gujarat and Rajasthan/
U, R yew, TeR i TR
CDS (1II) 2010
UPPCS (Pre) GS 2003
|Ans : (b) ST T F =T W@ |

103. Which of the following is geographically closest to

Great Nicobar?/ffaiaa & @ shiA—4T ®wa
A Y2 freem & e free 87
(a) Sumatra/gHTAT (b) Borneo/aif=at
(c) Java/STat (d) Sri Lanka/$t et
IAS (Pre) 2017

|Ans.(a):@§?ﬁmaﬁwaﬁl |

104. Which one of the following states of India is
surrounded by Bangladesh on three sides?

ORA & fAfefad § & -1 Tk T o4 W6 &

SeTeYT ¥ RRr gam §7?
(a) Mizoram / o (b) Meghalaya / e
(c) Tripura / BT (d) West Bengal / 9f#® amret

CAPF (AC) Paper-I 2009
| Ans. (¢) : 30 T Y = 2 |

105. Which one among the following Indian States shares
international boundaries with three nations?/

frafefad § | &F-|1 T 9 T &= g @t
=g Hraredt & o §7?

(a) Uttarakhand / 3dU@Ue

(b) Himachal Pradesh / &amee s@wr

(c) Arunachal Pradesh / 3T&UT<Icl BEN

(d) Assam / 379H

CAPF (AC) Paper-I 2012

Note :— THIT: 9IRAE A AT &l a@E 15200 {61
Y S 2

101. Which of the following country forms the longest

terrestrial border with India? / 3?& ¥ i | a'QT

A o AT ToH TS TIeAta HHT s+ 87
(a) China/&= (b) Pakistan/diferea=
(c) Bangladesh/stemesr  (d) Nepal/aure
UP RO/ARO (Pre) 2013
UK RO/ARO (Pre) 2016
CDS (I) 2012
MPPSC (Pre) G.S. I* Paper, 2016
|Ans. (c) : 3T T H S <G | |

|Ans.(c):@§?ﬁmaﬁwaﬁl |

106. Which of the following States of India does not have
common border with Myanmar?/fr=feiad ¥ @ 9Ra

o form T =t o witr @ st T 2
(a) Assam/3T8mH

(b) Nagaland/:lT"ﬂﬁU%’

(¢) Arunachal Pradesh/37&UT=rct EEN

(@) Mizoran/fH=sTH

UPPCS (Mains) G.S. I* Paper 2012
Ans. (a) : ST T F IR 3G |

TR T e

YCT



107. Which one of the fOllOWiI/l%n:r States  does
not form border with Bangladesh? o0 u few
T skt T sivereyr @ T frerdt 82
(a) Meghalaya/ﬁ«‘ﬂ?l’q (b) Tripura/ 33(

(d) Mizoram/fosTra
UPPCS (Pre.) G.S. 2002
UP Lower (Pre) G.S. 2002
UPPCS (Mains) Spl. G.S. 2004
UK PSC RO/ARO (Pre) 2021

Ans. (c) : ITIH T I ST G|

108. Which among the following states does not form its
border with Bangladesh?/fifeiRaa e ¥ =i 4T

TS FTCATIT A 0 Hrar & s=rar &2
(a) Assam/3T T (b) Nagaland/:IT"ITéY—sr
(c) Meghalaya/fﬂm (d) Mizoram/fisiea
UPPCS (Mains) G.S. 2016
Ans. (b) : 3T T FH AT G |

109. The Indian states bordering with Bangladesh are
< [STTEATSYT ht HHT | T 9 & T &

(a) West Bengal, Nagaland, Assam, Meghalaya
(b) Nagaland Assam, Sikkim, West Bengal
, 39w, fofswn, oftem sma
(c) Meghalaya, Assam, West Bengal, Tripura
, 378, uftem e, B
(d) Nagaland Assam, West Bengal, Manipur
ArMeE, T, ufvEd s, AT

Chhattisgarh PSC (Pre) G.S., 2003

(c) Manipur/tIﬁT?

112. The pair of neighbouring Indian states of Nepal is
& USrHl TR Tl I E—

(a) Sikkim, Bhutan/f&feepd, g2
(b) Sikkim, Bihar/ffsu, fo@R
(c) Assam, Bihar/3T¥, foER
(d) Uttar Pradesh, Haryana/3tiX w3, g
RAS/RTS (Pre) G.S. 1999
| Ans. (b) : ST ¥¥7 FI =T W) |

113. Which among the following states of India is
surrounded by international boundary in three

sides?/¥ R o feifeRa oot ® § former i @&

arauisiT dare &2
(a) Assam/3/ (b) Nagaland/ATTeig
(¢) Tripura/fqQ (d) West Bengal/afSem et

UPPCS (Main) Spl. G.S. I Paper 2008

Ans. (¢) : AU T @9 3R § ararRy § By gan 81 Fafy
9. S A STRigT el afrerey, Sure qgr g2 @ e
R, dfshd w9 & A W refa et @ o S wh R g
YR T 3 FIgw g
114. Which of the following states in India, do not share

border with Bhutan?/f¥1 & & Iq |1 WA= RS

e o WY HET T avear g7

(a) Sikkim /f&fera

b) Bihar /@8R

(c) Arunachal Pradesh /37&UTT=el EEN

(d) Assam /3794

7th JPSC (PRE) 2021 (Paper 1)

Ans. (c) : ITIH T I ST G|
110. Which one of following state does not share boarder

with Bhutan?/ffeafiaa & @ form 9wt = ot

Hramd ser g o wrer T frerdt §7

(a) Sikkim/fafesa

(b) Meghalaya/ﬁ«‘ﬂ?l’q

(¢) Arunachal Pradesh/37&UT=ct EEN

(d) West Bengal/af¥aw et

MPPSC (Pre) G.S. I' Paper 2012

Ans. (b) : ITIH T I A G |

111. Which state of India has borders with three countries
namely Nepal, Bhutan and China?/9Rd & form T

@t €T U, gew iR =i e e @ frerh #2
(a) Arunachal Pradesh/37&UTdc] EEN)

(b) Meghalaya/FeTerd

(c) West Bengal/9fem el

(d) Sikkim/f&ferpa

MPPSC (Pre.) G.S. I, 2008, 2015
Ans. (d) : fafw Ts7 & 9l Jure, gem, o, @46 S
Y o g B SEUEA W A dW A T faerd 2
Hererd, U= e U9 & G Sy & 91 fHed 81

|Ans. (b) : I T F1 =R A |
115.

Extension of the International boundaries of India
along with their neighboring countries in ascending
order are

ORA T U USIHT 9N &k " T=iga €W &
feream =t 3T wE ®
(a) China, Bangladesh, Pakistan, Nepal
(b) Nepal, Pakistan, China, Bangladesh
(c) Nepal, Pakistan, Bangladesh, China
(d) Pakistan, Nepal, China, Bangladesh
MPPCS (PRE) - 2019

Ans. (b) : Y &7 TSI 30 % g @ i fon-

o FIARY - 4096.7 f.

o dH - 3488 foprfl.

o rfehEa - 3323 foreft.

o U - 1751 ot

TH YR 9T NS SHAY: AU, UlhEH, = T Sieley 7 |

TR T e

YCT



116. What is the correct north-south sequence of the states
of India along the Myanmar border?

AR & EHT & TEN AR & TSAl ot 39 § ST

T WET THE T 7?2

(a) Arunachal Pradesh, Nagaland, Manipur,
Mizorany/3RUTEe Y1, A0S, HOTQ, Frsi

(b) Arunachal Pradesh, Assam, Nagaland,

Manipur/3&UTEe] FI%{ST, 31@11, HFHF}U@, mcﬁTEI
(c) Assam, Nagaland, Manipur, Mizoram
(d) Arunachal Pradesh, Manipur,
Mizoram/3Re0Tad Je9T, qﬁﬂ?, )
Uttarakhand RO/ARO G.S. 2016
Ans. (a) : TR F AT & TGR IRT & Tl A IR H o7
T T T THR §-3TEUMEA FIVT, AME, WO SR i
117. The border of which Indian state touches Myanmar
maximum?/@A-4 ARAT TS hi 3Meehaw  Hr
AR W 9t w &2
(2) Manipur/HfiTqX
(b) Arunachal Pradesh/3T&UTdc] EEN)
(¢c) Mizoram/fH=iRe
(d) Nagaland/:IT"ITﬁTTér
Rajasthan (RAS/RTS) (Pre), 2006-07
Ans. (b) : TRA-FUR G & owg 1643 el €, S 9ra
F IR T SEUEA WeW, AFMvE, AT q@r fie &
oyl it 21 39 g ) walfere oErd sweuEe SR (520
fepeft.) wd fies (510 feeft) & @i 21 59 @R A Wi
(398 ffl) @ armetve (215 fodt) & @y 21 =ER &
S TN YA R 7T WIHR 6 HeF o NIpiash T
formfor sheet 81 graer @ f6 ST A9 % wex dmn wn freior
1826 & FET (Yandoob) TfY & &R T g8 o

118. The McMohan Line is a line agree to by Britain and
Tibet as part of the Shimla Accord, a treaty signed

in/AeRATET YT e i ferssra g Rmwer awzia &
Tk 9T & ®Y ¥ TgHd olg ¢l 39 Ui o g&anan
fee

(a) 1912
(c) 1947

Nagaland,

(b) 1914
(d) 1962

Haryana PSC (Pre) 2014
|Ans. (b) : SR ¥R FI =R W |

119. Which one of the following Indian states does not
share international border with two or more

countries?/fAfIREd ¥ & WA AT WRAT TS, &
areran 3fren AN o WY Iieigiy HuT @t |Ew 1@

Ans. (d) : 90 77 @1 &7 W § SraRy ¥ o 2, ad
d feem # feiRw ot oW ¥ W WM T g1 SWfe
STEVFA TRV (EH, 9 Td =IAR) 3T8H (L TS i)
Te S (e e wER) § g oaen e g fgw
dimr s , fei § o 2
120. The newly formed state of Telengana is surrounded

by: T de t & o 2

(a) 5 States/5 TUsT (b) 4 States/ 4 TST

(c) 6 States/6 TUsT (d) 3 States/3 TSH

NDA (I) 2015

Ans : (a) JETHT ST HT TS 2 SH 2014 B B TN TR
Y IV T SO G I el 297 A TsT &1 TR
e uie Tdl- WY, FAlesh, ST, MRy 7 suTe
¥ foerdt 81 adae § 28 T §

121. In India, how many States/Union Territories have
more than two international boundaries?

9Ra ® fraa Tl /A9 TSH-9E @t S ¥ 3

sieteia dnd 7
(a) 1 (b) 2
(©3 (d) 4

CDS (I) 2020
Ans. (d) : 9RG & IR TA/HK GG FS91 H G oA G
At M F T B A S-owra, fafEd, O @ma qen
TEVES FRTT|
122. Which one of the following India% States has no

international boundary? ¥ fra awedi
T ot whIE Sfaisiar dhur TE 82
(a) Bihar/fo@R (b) Chhattisgarh/STaTe

(c) Uttarakhand/3T&E  (d) Meghalaya/Heme™

CDS (II) 2019
Ans. (b) : FER & o=RigE 4 U, IWEvS $ G U
T 99 3R e B STeney ¥ e 81 BMee U e

T B e @18 sride G 6 2

SFQ'FI'W

123. Arrange the following seasons in Chronological order
accounting to Hindu Calendar:

e hgell &l AT Feret % ITTER HIEHATTAR
et whita-

(i) Autumn/IRE (ii) Summer/Jsq

(iii) Spring/sd (iv) Rainy/ast

Select the correct answer using the code given below-

M= feu T He W TERT wh HE ST @ wud

HIAT 2 AT
(a) Arunachal Pradesh/3TeUT<e] EER) (a) (i1), (iv), (iii) and (1)/(i1), (iv), (iii) E3iEy 6]
(b) Assam/3THH (b (i), (i), (iv) and (i)/(ii), (ii), (iv) 3R (i)
(c) Mizoram/fHsiRa (c) (iv), (i1), (1) and (iii)/(iv), (i), (1) ESiny (iii)
(d) Tripura/Bq (d) (1), (iv), (i1) and (ii1)/(1), (iv), (ii) R (iii)
NDA Exam (I) & (IT), 2020 UPPSC RO/ARO (Pre) 2021
ORA T A 34 YCT



Ans. (b) : TRAE hoel AT GRAE T U= 9RG § 39
fepam ST aren T fafeer ot 81 39 o1ER W # Ry
U RS B G HCHhT Y- aHd, A, o6 qg IRE &
AT Sholel I Haq W IERd @ 3R IRET e &
QY- 22 A 1957 § ST TN &1 W TH hetel H W
R S B sy e 2

124. Where does India rank in area among the countries of

the world ?/Qanr«raﬁ‘«gf%zﬁ WA o1 faver o o o
I | T 82
(a) Fifth/qr=at (b) Sixth/B3f

(d) Eighth/3T3at
Jharkhand PSC (Pre) G.S. I*'2016
Ans. () : &% I g ¥ YR I favd § Gaal @ 81 9d
&R 32,87,263 W fRE. B ST fvd F FA &mwd @
2.4% 21 fawa & ofid et ATt T4 ©-

(¢) Seventh/gTaf

(1) &9 (2) FAET
(3) AR (4) 9=

(5) SSfret (6) T fern
(7)

125. Consider the map of India given below:
o @ T wwe & "t W wife-
The map shows: / 38 o= W ot T=w 3

(a) an isohyet/Tsh qHas! kec)j
(b) all-India water divide/31Rgel YR St forreish
(c) a combination of national highways/TgTa oMM

(d) a combination of major railway routes/SHg et st

(IAS (Pre) G.S. 1994)
Ans. (b) : T ¥ YNT WRA & AHRE ¥ weff| @ T @
Sfad AR S &9 @ P S @ 81 SeEdd §
AYAE-t7 H ag arell At & I 9w H gus w
g H S [G9S FET S 21 9Rd § O sRamom &
TR B g W A9 A S 2, a6 g6

126. The limit of the territorial water of India extends upto :
TR o WIRfITeR ST &7 ot faa 8-
(a) 3 nautical miles from the coast/d< g3 Fl'ﬂff HieT %
(b) 6 nautical miles from the coast/de T 6 ‘El'ﬂipf Hia %
(¢) 12 nautical miles from the coast/dZ T 12 H‘E@ Hia
deh
(d) 24 nautical miles from the coast/dZ T 24 Fl'ﬂff Hre
deh
UPPCS (Main) G.S. Ist Paper, 2005
Ans. (¢) : TG F TRRH I & R 9RT % IO € ¥
12 e drar & i 7 Rad 81 39 & & ST F 9Rd
' grgul SR W 71 eifafsse Hedt A1 Homd e & gf
YR 1@ 9 24 Ut det (1 9t dia= 1.8 feft) o 21 59
&7 § WG H wH-ueE, $m Yes A oaye R fwia
ARHR I 2
127. 99% ¥ 9N i WTEfTeh WA o1 faear waf ae &7

(a) 10 5T i (b) 12 T dia
(c) 14 5T i (d) 15 9 dia
CDS Exam (I), 2021

|37 (b) : 3T 77 F =T W

128. Which of the following statements is correct in context

of Sikkim?/f=ifeha T | wa faferT o T
T 8?
Choose the correct answer from the code given below
I. In 1975 it became an integral part of India.
1975 W I8 9RA 1 A= S o T 471
II. It is considered as heaven of natural Vegetation./sﬁ
STHfereh Seafe s Tt HT ST 2|
III. Lepcha tribe is main residents here.
59 g et oo i g
Code/%< :
(a)l
(c) I and III/TT 09T 111

(b) Iand II/1 9T 11

(d) 1, I and III/L, 11 9T 11
UPLower (Pre) G.S. Spl. 2004
Ans. (d) : 1974 . # fofyen & 359 dfgum gemem )
TSI & ®9 H 9T 1 ST S9@ T a9 369 Gaee
TENEE 1975 BRI 98 9RG F QU USF 99 T FE h T
forardt crear @i §1 8 ‘Tl St s @t 9 S @
qT I8 IRA H1 Tgell qui Sifdsh F S aren ToF 2|

129. The three mountain ranges which determine the
border between India and Myanmar are:

9RA AR =ER & drer @ feiia w@ areft =
uda SfurEt §—

ufvem i At ufvem i SR o1 39 qd # At @@ # (a) Khasi, Patkai and Arakan-Yoma/GHl, TeaRE 3R
HR yaIfed @t 81 A U At AR F I WA 7eA ST~

q%d | 89 % EESCRST] e W@ & uTaq 89 9 3 (b) Akai mountainrange/%lgqifﬁﬁ@w

Afeat ofvem & RSB 21 el ofvedt we 9 frifyd S (c) Great Dividing Range/3e feamsfen &

et oot faursis T & ufvem d € 9 ufvew & R qgr o (d) None of the above/35 H1g &l
W%ﬁﬁﬁ%aﬁﬁﬁmmél UP Lower (Pre) G.S. 1998
TR T A 35 YCT



Ans. (d) : 9RT 3R DMER & 7L SHH-A (TR, 0T,
fo ot g (sl werfeat orft st @1 =R wdq oof
TEHE IS 1 & TH IR ? wfchT 3HH foRAR Heery ST H @
a1 foh 9 =R E 9 W

130. How many districts are in India?

ORa o R ey €2
(a) 600 (b) 650
(c) 580 (d) 800

(¢) None of the above/ZTH T Hig T
Chhattisgarh PSC (Pre) G.S. I'' 2014
Ans. (e) : SFIUAT 2011 & 3T9R 39 97g 9Rd § i &
T 640 At S A 2022 H 725 T & E B
131. Which of the following is a desert region?
frefeafaa & @S- e 872
(a) Sindhu area/fF7¥ &
(b) Gangetic area/TT &
(c) Assam area/3TIT &
(d) Central India area/qH¥d 9d GEl
MP PSC (Pre) 2018
‘Ans.(a):ﬁwﬁﬁa@ﬁﬁmﬁﬂw% ‘

Ans. (c) : TIHNT TOR JEH Teameivs gt &1 9 g S
AT et &t TgHEl T o1 SR B § 71 gHw R
16 @@ @it fft. 81 98 9N & T a9 i Wew
SUTETET T FoE WEIGH qE@Ue 21 39 3HEd SO 600
900 ft. &1 WECh, TSHEe R el # wIEar sgh W #

T ST # FeArgA 9% Su faER 2

134. Arrange the following Indian cities according to their
locations from west to east :

frfafea O 980 6, Ufved § 99 @ SR

I JEARATT & FTEAR AT HIFTT—
1. Bilaspur/fSemege 2. Jodhpur/STTETgY
3. Bhopal/sTTatet 4. Ranchi/t=it
Select the correct answer using the code given below :
Hrer feu T Fe T THIT Y TE ST YT
(a) 3-2-1-4 (b) 2-3-1-4
(c) 4-1-2-3 (d) 2-1-3-4
NDA (II) 2017

Ans. (b) : U@ ¥ g & I ARAE Wl B HH 2- STEGR
(TSRIH) — 99 (F0M0) — fIaeqR (Ffwme) — T
‘FREUS) |

132. Match list-I with list-II and select the correct answer
from the code given below:

geit-1 o1 GEfi-11 & gafea sife 9or givst & =
feQ Y e | W s -
List-1/5=h-1 List-TI/g=h-1

A. Delhi/feeedt Arid/=h

B. Mumbai/ﬁﬂ? Semiarid/STI‘iﬂtSISB

C. Jodhpur/Seg Warm humid
I 37T
Humid/3Ts

whh e

D. Shillong/freriT 4.
A B C D
b3 4 2 1
d4 3 1 2
UPPSC ACF (Pre), 2017
Ans. (¢) : 981 GAfA I 39 B 2-
geit-1 -1
faeett EEN =
LiCH IWT 3R
SR T
et s
37: fashed (c) T gAfem 21

133. Which one of the following geographical regions is
the oldest in the country? ﬁlﬂTél—Trr o a v

STifeTeR & o UTei §7
(a) Himalayan Mountainous Region/fGATer &1 wddia &
(b) Great Plains of North India/3T WRd &1 foeme FaH
(¢) Indian Peninsular Plateau/HRd& SI&GE ISR
(d) Eastern Coastal Plains/fﬁpf g e
(e) None of the above/3TIH § HiF Tl

Chhattisgarh PSC (Pre) G.S. 2017

135. Consider the following places of India :
O o fAfeiad T W feem i
1. Itanagar/é?l?'ﬂ'

2. Imphal/S#hRTeT
3. Agartala/3TdcT

4. Aizawl/éﬂ'lgiﬁﬂ

Which of the following is the correct chronological
order of the above places in terms of sunrise time?

g & waag & feaw 9 swdv wE @ '@

whIeTTgeRn frreferfiaa © & wiA-a1 872

(a) 3-2-1-4 (b) 2-1-4-3

(c) 1-4-3-2 (d) 4-3-2-1

NDA (II) 2018

Ans. (b) : TSR & T WA (@R 9RGE TS A
ot g1 St o ¥ ufym S siR-mee (ART), MR
(&I S8, Sgsie (i), swRaen () @ st @y
3 b w0 et el T ¥ A S W ud R 8
3% 18 STN, A, SR # B
136. Duncan passage is situated between

TR Werar-er feraah sfter frer @-

(2) Minicoy and Amindiv/fifepia e srfda

(b) South Andaman and Little Andaman/2feI0T 3{€HH 3R

BT STeHH
(c) Minicoy and Maldives/f#f=era 3R AT
(d) Little Andaman and car Nicobar/fafea 3fgam 3R R

(Haryana PSC Pre 2014)
Ans. (b) : EH o SRR eHH R @Y e & A
feod @ S ufvmm § Mo S wiEl w9 # e avR
Shedt 21

TR T e

YCT



137. Match List-I with List-II and select the correct
answer using the code given below the Lists :

el 1 A gt 11 9 gafea site aar gfe & e

e T e T JET W A/H ST g

Feft-I (List-T) Fef-I (List-1T)

gt T U ® e

(Hill Station) (Location in Map)
A. W(Dharamsala) 2

e
B. fcHiS (Alomora)
C. ire (Nainital)
D. NI (Darjeeling)
%< :

A B CD A B CD
@1 2 3 4 1 3 2 4
2 1 4 3 d2 4 1 3

CDS (II) 2012

Ans : (a) TR ¥ 3 T e 7 R 21

1. erfgme—edenen fEarEe Yo H raftud el & @ ST

Tl GaXd b FIC ST S 21 4E wed & S g,

T & AH TR S & | GRA % By e | e

T TS A Thiceve ¥ # 7

ICHIST—TF WIS H Weaqul TR & ST A

TRIfAl W ST g3 2

-8 sTEve & Y@ Tded TR g1 femEfes

wIedl W fRed 21 39 el & e @ wE S g

;;%7§a€m%a@sﬂwaﬁasﬁw%ﬁm%ﬂ
|

TAAAT—2 9" o & T TR 2| T RErers

qequrer § oy A § sefed 21 98 9 % e 9

& Tl % oI U W W, SO wfe (e S

TR fEe amfe

138. Which one among the following cities never get the
vertical rays of the Sun all through the year?

frrefafaa sedl o & fofg Tk o, W ad & S g

= TeAteR faet weft e uset?

(a) Chennai/=9g (b) Mumbai/ﬂ"aé

(©) Kolkata/3hIetebTT (d) Srinagar/4TTR

CDS (1) 2011

Ans : (d) HFR (I ©F FHHR) TR H g i eater 5
R & A A TS| THE G, TR SR BwE
el # g i el FeAter et €
139. UTeR @Il ferer ofter &2

(a) oS N WLl IR G H TSt

(b) TR I WET HR A @l F

(c) TRIEY 3N AT 99TE &

(d) =AM IR bR £7 998 &

TAS (Pre) 1996

Ans. (b) : TS & TS WG e diem & d= RE R,
TR # WE e e @ @l & Sied 81 gy
Serenened A el S 8 S aFl <9l & di" Q| 31w
1 @ Td T A @ TR o fRm 21 e
HITEE &l 9° =eT 37T Al @ Sielfsh SUSHM e fhlER &l

3 4

10° =t 3T Ll 2
140. G=-1 0 Gei-11 ¥ GATAT ST X et o e

T Qe T wET W WE S gFE-
Tl-1 (qdie woe) gH-11 (=)
A. TR 1. 375
B. &M 2. af¥=m S
C. g 3. IW W
D. FH 4. fea=a wew
e

[N

(a) A-1, B-3, C-2, D-4
(c) A-3, B-1, C-2, D-4

(b) A-3,B-1,C-4, D-2
(d) A-1, B-3,C-4, D-2
TAS (Pre) 1999
Ans. (c) : THUA WS Tg A ITTEUS/IH 49 F Ry 21
BT, TG 1 Ig W &1 i, gl ser § Rew
2, S P e SRrg T fmme waw § R 2
141. fr=feafaa yog O™ TR § | SiE 91 U 9o
feres gel Wi 3R Irefera §2
(a) BETER (b) STt
(c) T (d) ST (TR
IAS (Pre) 2007
Ans. (c) : & T3 TR B qERE § 69 ¥ WY @ 6 I ey
T TR @S 99 5@ § fRr 21 et g g1
TG, IHERY S T A PBiesh B AT 21

142. YTefi 9N STiTeTeh WAl o SIJER 9RAa (e

BT &1 T oar?
(a) I 219 (b) ST
(c) shieda (d) FET
IAS (Pre) 1993

Ans. (b) : S | fRmre ¥ o qferor | T el gT
IR SURRTEY i ey Al @ S S ) atg dei §
9RA B T AT HeT T F | el W g el e §
T AEET S WA 971 SediEA @ 6 A 3w
% forT ‘sfvear wiss i yA fhar € wefh srgyfa § Ton w
& AT WY ‘IRaad e T 2

143. Which one among the following creeks is not
associated with the state of Gujrat?

Freffaa dwd @iree (@) § @9 @ T, TRE

TS | TG T §7

(a) Kori creek/® e (b) Godai creck/Teg i

(¢) Kajhar creek/®3IX %% (d) Sir creek/SX shish

CDS (II) 2011

Ans : (c) IHT @IS (%) T FIR % [oRC ToF § TG
T 21 SEE F HE, MeE HF AR TR [ TT
W%éwmw%%mwaﬁtwm%qwﬁaﬁ
I 3T =

TR T e
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[z= =1 udda wew|
! |
e T | e 9@ Ted pLis)
1| $WHE () | &- .| @eM/ges |(a)| ®=EC
2(8611 fedrera Cre=s
) (8848 )
2| @ |(b) R @@ (2. @y |(b)| dEesEn
(8068 T.) fewTer (8598 T.)
3.| SR |(c) | e W@ | (3. | smy/fErfes | (c) | wer
(8047 ) [REICE (8481 H1.)
4. | drdsta | (d) | e A (d) | Hrenfii
(8035 #.) (8172 %)
(e) | = v
(8126 Hr.)

YIS IRa s T = arelt gda St

=

CERG]

warea RrEw

goft

1. Il gda

e udd
warea R TE
el (1722 )
21 T8 g TEIEl W
fror 21

[EIRIEN]
gdq gof

%

3. ol A | THENE WeR | SEMArR Ed &
Tdq (WEnfx | % ufEd @@ | warte forar
o) F WER W | RIS (2697.)
¥ Al 7 ¥ | ufgm we wdad &
e F A | W et A R
< a9 | A EROT qRA
(@1 1600 | off Fa® FA =
) = |2
wdd e H
e 21
4, o e | o | gf e F warew
T sjger & | % ar ¥
foredR W | STeT-3Tel THl W
(sfewm)  § | serr-eem AW
CIRITIES fraar 21 -
GIRERIEY) fSmemer E1cil
% 8l T | (16904)
A AigeR | faemarsm
e | TRl (1501
FaRE w9 | 4, GRIGITIE
2 (1515 ) amfz)
1. The Himalayan Frontier Thrust (HFT) lies in between
/fTer™ Wwhi-ear o (HFT) e & ¢
(a) Lower Himalaya and Higher Himalaya
fr= fewrer wd 3= femers & wed
(b) Shivaliks and Lower Himalaya
franfers wa et femrers & wex
(c) Gangetic Plain and Shivaliks
T-AeH we RrEfes & 7
(d) Higher Himalaya and Trans-Himalaya
I= fewrera wd r-fenTe & He
UKPSC (PRE) Lower 2021
Ans. (¢) : @ B g (HFT) T #eM wd e
% wer fod @1 39 Fge g (MCT) 9eM Ud o R &
T SR BT Al 9 (MBT) @ wd fyaifers femem &
weg fRord 2
2. The highest mountain peak in Uttarakhand State is
:/[3TTEUE TS i God Sl udd =t &
(a) Nanda Devi/d=<T & (b) Chaukhamba/= @
(c) Trishul/FR[&a (d) Nandakot/T=ThIE
UKPSC (PRE) Lower 2021
Ans.(a):m@mﬁwﬁﬁmﬁﬁwéﬁ%
rer 20 IS
FRr e - 7817 WX
dEar - 7138 iR
ENG] - 7120 #HiX
TR/ - 6861 HieX

WA T YA

[N

39 YCT



3. The Main Central Thrust separates
T H3 G JUH HIT |
(a) Gangetlc Plain and Siwalik Hills
T 1 qe e veifeat
(b) Lesser Himalaya and Siwalik Hills
o feaea o Rmarfes weirsar
(c) Greater Himalaya and Lesser Himalaya
gge_ferrerd qur @Y fewe™
(d) Tibatan Plateau and Greater Himalaya
fdssd- UeSR q g8 fewe™
UKPSC (PRE) Lower 2021
Ans. (¢) : Y& HET & (Main Central thrust) 8= fgarcr™
aﬁiag%mmaﬁqwm% T Tl g% (MBT) @Y
wd fyrafers RBare™ ®I gos wr @1 R e wee (HFF)

franferss qem faremet dam @t gus F 2

4. Mount Kailash is situated in which of the following
area?/heTToT Uad T # | for &1 & rafterd &2
(a) Tibet /frsa (b) Nepal/<dTet

(c) Uttarakhand /3q@ve  (d) Sikkim /f&feepd
7th JPSC (PRE) 2021 (Paper 1)
Ans. (a) : $a9 T4d foed § Req © wda gvft @ a@ 2@
e 8 & fom 21 Twh R AT AR § AR
THEard i 21 Fel ¥ e Hegequl At et & s,
oy, |aers!, AT (STE) 31|
5. Atal Tunnel is across which one of the followmg
Himalayan ranges"f&l’l:f feweer wdagfoet o ¥ fore
T aSIUft Y 31Tt E U et &7
(a) Zanskar/STT&hT{
(b) Western Pir Panjal/dqf3d ddser
(c) Ladakh/<Igr@
(d) Eastern Pir Panjal/gdi dRUSITe
(e) None of the above/More than one of the above
s & FE YIS A G 0 A
66™ BPSC (Pre) 2020
Ans. (d) : 37T Z9d & fmiT sH-sviR % g 9R) e
B 21 THSH ol o 9.02 fl. §1 W@ WA # o W
SIS 21 THH IR JUMHA K W 4 s 2020 H
foma o
6. Arrange the following ranges from South to

Northward sequence and select the correct answer
from the codes given below:/

IO A ST WP AN F WA W AU RN qer
Hfrer fau T e ¥ TE ST H 9T R

1. Zaskar Range/ST&h{ grofy

2. Dhauladhar Rangeﬁﬁ?ﬂ%ﬂ goft

3. Ladakh Range/aer@ 9vft

4. Karakoram Range/ﬂﬂ?l’cﬁ'(q groft

Codes/&2:
(@)2,1,3,4 (b) 2,3,4,1
(©)4,3,2,1 (d)4,2,1,3

UPPSC ACF/RFO (Mains) 2020 (Paper-I*)
Jharkhand PCS (Pre.) G.S I Paper 2013

Ans. (a) : SRI0T § ST - HTTE-SEh-ATENG-HRIHRA & |

dierer goft femrae yewr # g @1 g Fimer ot (fRure) @

Y@ e W 2

= SRt STt g T eN o ¥ Red 7

= g ovft S F I RRem 71 9w Ry 7 v A
% o9 Red 1

= FHUHRE S0 o gvh % s F Red 21 3@ faER
T, ifeha & 99 § 2|

7.  Arrange the following mountains of India according to
their location from North to South

W <At Tela SITUTE hr Sehr TERYT %
ITTAR 3T | farur srafeara -

1. Nanda Devi/a=T 2eft

2. K2/%-2

3. Anamudi/3TTEHE

4. Doddabetta /SIgragT

Select the correct answer from the codes given

below/ﬁ@ﬂ@ﬁﬁﬂ%’rwgﬁq—

Code/he—

(a)2,1,3,4 (b) 2,1,4,3

(¢)3,4,2,1 (d) 4,3,2,1

UPPSC ACF-RFO (Mains) I Paper 2019

Ans. (b) : ST 9RA 1 Udd AT H ST ARy &
STER I § 2T A I TR e-
F-2 FER (FAIH H AL A< @ (STEIE) —>
mﬁg (AHTTE)—> STRIE (hLe) |

Which one of the following is_the youngest mountain

range of India?/fA=feriaa T - aRA st

Teftem v Soft &2

(a) Himadri Range/fRwms sioft

(b) Aravalli Range/3Taet goft

(c) Western Ghat/af¥=t =1

(d) Vindhya Range/ferea groft

UP PSC (Pre) 2020
Ans. (a) : BA & 75H Raem & 9m 4 oFff I S B
e Soft a1 Feaaw wdd goft 81 T' gofi g RureE
wd e e % 4 Red §) fiva 9 $o ware wdq et
9 9o § Rem §1 oEcel THHAH HigeR SERTE ydd &
IR 2| THH Fared Frar e ey’ o1 werd W fiem 2
9. Siachen Glacier is situated to the/faate fFw=g Eh_'{f
Teora &7
(a) East of Aksai Chin/?ﬂﬂ:\':IT'&t ?ﬁ?%ﬁﬁ
(b) East of Leh/a8 % g4 &
(¢) North of Gilgit/fTafiie % 3w &
(d) North of Nubra Valley/TsT Tt & W H
UPSC IAS (Pre) 2020
Ans. (d) : ffem feamg SRR vl F, gmsr@r(aw)%
I IEited 8, THe o 767 fEW. 81 Mew &9 &
ST T8 Y 1 U Y gl TWNER  SEih &9 % gy
T THRER TR 8 § s ‘e I ORE R
Ae-FNERA 07 F W@ fove - feem (61 fordh) former

(60 fepeft) aTeery (58 febedt.) B

TR T e
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10. The Kumaun Himalaya is situated between which of
the rivers?/gn'q'l?" U for afea &
ofter feera 372
(a) Indus and Satluj/fa R Faers
(b) Kali and Tista/sreft 3 e

(c) Satluj and Kali/ddetst 37X sreft
(d) Tista and Brahmputra/fir R ERRE
UPPSC RO/ARO (Re-exam) 2016

Ans. (¢) : U™ &7 FI IR Y@ YRR 9 § sier T4 2|
Ig faure =ofial & U W fhar e @1 ufvew § qd gue
ferSi 39 W 3
Uere femrera— g § waes 78 & 75 560 fHH. @ R
# forga wedt 9T i goE feRTery Fed €1 3e AR e
S HYHR g qo fRuEe ew § 2
TS, feaea— 97 Taaw S @l A9 a% 320 fE @
g@%aﬂam?ﬁa%lwwwﬁmwsﬁéﬂﬁ

|
AUt feuTeT— T% et 9 9 dew Al a6 800 fHHL &
orerg # Re 21 guer ey e que # 21 R &
o S =it g am § 31 8- AT T, ses
3w fewera— @ A A4 ¥ sEgd a4 & = 720 fedt &
el 81 39 9N H AE-awa, en Hiel et e g

. Much of the country would experience the cold waves

from Siberia./2% & 3RS 9T § HdlEr ¥ A9
arett 3T @&l @ IFHa Fa

Indo-Gangetic plain would be devoid of such

extensive alluvial soils./fag-Tm #eM EGEI W
SellE gar ¥ dfea gl

The pattern of monsoon would be different from what it

is at present./AFYA F Yfaey adaH sfowy § fr g
Which of the statements given above is/are correct?
Iuge el | W i AU ¥ 9E ¥ E?

(a) 1 only/&aa 1

(b) 1 and 3 only/&ael 1 37 3
(c) 2and 3 only/é)—cl?T 2 3R 3
(d) 1,2 and 3/1,2 3R 3

3.

(IAS (Pre) G.S. 2010)
Ans. (d) : 9T I 390 G R/ A Rurem 7€ g @ 2w F
fferepier T # wrgaAlar ¥ o arelt vfa el &1 ergHa dr

2 Y S 9T & Seetad
Hert & § Rurerd & e § oo arell afeat & @i
a7 o i § Soig 99 @ ged
G e T 8 399 S 9Rd dfd
W ¥ 3T 9RA F1 R &7 oNa W W § afed | S
o 3al a1 fggd fer & I @ S

11. When you travel in_Himalayas, you will see the

following :/STd 3TQ H AT KA, qr 3T
frfafad s gEnt :

1. Deep gorges/TIBi g

2. U-turn river courses/U SATE aTcl Aa-ATT

3. Parallel mountain ranges/SHAT< wda siforat

4. Steep gradients causing land sliding

THge o U Iaer dig @ aur

Which of the above can be said to be the evidence for
Himalayas being young fold mountains?

UG W | HiA-W fGuera & a0 St udd (Fe

ISR Ueld) & H1eT g ST Hehdl 87

(a) 1 and 2 only/&ael 1 37T 2

(b) 1,2 and 4 only/3dd 1,2 3 4

(c) 3 and 4 only/Fad 3 3R 4

(d)1,2,3and 4/1,2,3 3 4

(IAS (Pre) G.S.-1, 2012)

Ans. (d) : o™ # a6 @ T HE: TR Ty, U-TAE
(U-Turn) a1t & A7, ¥AMWR 9dd Sfmef qor Jeed &
foTe STerl & e SEu seante S i fied @ R
# T i RRef TER AeeR Tdd & wE R
wefdia & 2
39 JhN T 2T T gl o T &1 31 fobe (d) e
g

12.

If there were no Himalayan ranges, what would have
been the most likely geographical impact on
India?/afE fEATeE-vdd- gt T8 et @ 9Ra W
Heiteren WOt WNfeTeh THTE ST BIeT?

13. The Himalayas are formed of parallel fold ranges, of
which the oldest range is: i AT HIT a6t

Siforeit g2 ¥, Fored & et St &
(a) the Siwalik Range/f¥ranfers sioft
(b) the Lesser Himalayas/fAH= fgarera goft
(c) the Great Himalayan Range/dg fearera soft
(d) the Dhaula Dhar Range/ dtererR groft
IAS (Pre) G.S. 1994
JPSC (Pre) G.S. 2006, 2008
Ans. (c) : HISISH TeThed & SAYH F MerHE Hed § Jea
femrer st fmfor gam AEE Fo § diear & F sEE %
A § oY 31T we femred 1 fmfor gam Rrerfes femer
F fmiv gee w@ o fewer AR g 9’ T stEEEl %
A § WA ®ed § gaTl o § o 1 &S a¥ @
femrera &t @t JEand ST SR o g ot
die- g9 Ao, fewrem 3 o gAY Swe 2
14. In the Himalaya, the “Main Central Thrust” (MCT)
separates/fEHTeT ﬁg@ T 99T (MCT) TUh Rl -
(a) Lesser Himalaya and Outer Himalaya/<Te[ feae s
e fewred i
(b) ‘Dun’ valleys and the Shivaliks/q =mfeal wd
feranfere Sfor
(c) Greater Himalaya and Trans-Himalaya/"gH @A™
w9 femre R &
(d) Greater Himalaya and Lesser Himalaya/"gH_f@Arer™
wd @y fewe &

Uttarakhand RO/ARO G.S. 2016
Ans. (d) : 3o § 91 W1 99 (MCT) w8 fedre™ wa oy
femre 1 gors e 8|

TR T e
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15. The foothills region of Himalayas is:

RuTera w1 v Ut gaw -
(a) Trans Himalayas/2T9 fgare
(b) Shiwalik/f¥rafers

(¢) Great Himalayas/g&d fgarer™
(d) Aravalli/3TEet

BPSC (Pre) G.S. 1999

Ans. (b) : RBHe™ & ydd tdg wev REfas e 21
femTer WR wdq SRl § fiert o 8 S TR FHHRR
el g€ §1 39 Tean @ T e S ge: e § o
21 390§ ‘T femera’ Rrad fay 9 gate 91t aEe tRw
(8848.86 m) ferd 21 e & ‘@Y fewe™r’, Ra F amam qoft
wreeadss o g ooft # R 21 dter @ frarfers Rmme
St gerd: Rl goft & o @9 S @9 F BN 3 ged
€ 3 off FeT S 2

Sl it & foear e TER 9 e | g

16. What is the height of Great Himalayas?
e fEuTe s i o = §?
(a) 8850 M. Above Sea Level/8850 H. T TH.TH.
(b) 8815 M. Above Sea Level/8815 H. T.UH.TH.
(c) 8890 M. Above Sea Level/8890 o, TUEEd.
(d) 8800 M. Above Sea Level/8800 Hl. T,TH.UA.
Jharkhand PSC (Pre.) G.S. 2010
Ans. (a) : 32 feurerm & S 8848.86 W. 21 ¥ R
TSI 1 T W@ q gared 9vft 31 36 fawa & watm
dq A@ifeat O o E-ARTe Te (8850 W), =T 2
(7817 Ht.), Fm wdd (8126 Hr.) gNEI

17. Examine the map of Jammu and Kashmir given
below:

et feu gu sy- v & A i S S

NPy

The mountain rangés marked 1, 2, 3 and 4 are
respectively

1,2,3 3R 4 3iferea geia- Aot smae: & -
(a) Ladakh, Zanskar, Karakoram and Pir Panjal
TR, SHEhY, FRHRA SR R vt
(b) Karakoram, Ladakh, Zanskar and Pir Panjal
, TE, SR 3 9R e
(c) Karakoram, Zanskar, Pir Panjal and Ladakh
FRHRE, Sk, IR Gt 3R oTeErg
(d) Ladakh, Pir Panjal, Karakoram and Zanskar
AR, YR USTE, FRHRH 3R e
(LA.S. (Pre) G.S. 1995)

Ans. (b) : TeEHE H, T-HYER & AT MU IwfF AEfa
1, 2, 3 3R 4 ¥ sifhd wda aforf wwen 9 yHR §-1.
FRIBRA Joft, 2. g goft, 3. s 9oft v 4. R g
18. Which of the following is a part of Aksai Chin
region?/fAfeRad o i 3T == AT WA 8-

(a) Karakoram Range/®RI6RY it

(b) Shiwalik Range/Rrafers sioft

(¢) Kashmir Valley/&¥HR =1l

(d) Ladakh Plateau/cTed 93N

UPPCS (Pre) G.S. 1995
Ans. (d) : TENT USN TEETE W T WM 8| SFEE T,
&9 W fEET B e 9Rd T d4 § e fee R, erd
T &9 | I 1 e 2
19. Himalaya stands for: / feuTe= uTiTarel &
(a) The Great Himalaya/Ag™ fgarerd s
(b) The Middle Himalaya/q&3 fewrers 1
(¢) Shiwalik/f¥rarfeiss s
(d) Trans-Himalaya/Zig-f@arerd s
UPPCS (Main) Spl. G.S. I** Paper 2008
Ans. (b) : fRurerm, weg fRarerm &t wafaart 21 -3 &
TAER ST 1 fHerd vdd @ gt S AW Suer 9 o
20.

Which one of the following gives correct sequence of
Himalayan peaks in the direction east to west?

o § @ w9 e @ wnfedt & ud @ ufyw feenw

T WEl R R A AT 7

(a) Dhaulagiri,
Everest/

Kanchenjunga, Makalu, Mount
(b) Namcha Barwa, Kanchenjunga, Nanda Devi, Mount
Everest/THT aX@l, shedsi, q<rdl, HRUE TRE
(c) Makalu, Dhaulagiri, Kumaun, Namcha Barwa/Aec],
(d) Namcha Barwa, Kanchenjunga, Mount Everest, Nanda
Devi/TH=T &%l SHasi, AP ,
UPPCS (Mains) Spl. G.S. I* Paper 2008
Ans. (d) : fewrer # @ifeal & 98 9 ofvew fewn & wd ww
TH FhN & €l oAl (IOTHA F2F), et (Rafen),
HRUE TRE (HUTel) T1 Fared! (SAMETE) |

21.

The Pir Panjal Range is found in:
T y=Ter ot urE et § -
(a) Arunachal Pradesh/37&UT<ct o H
(b) Jammu and Kashmir/ST#] g HIHR §
(c) Punjab/uSTa H
(d) Uttarakhand/3TG@E §

UPPCS (Mains) G.S. I'* Paper 2007
Ans. (b) : 7eF fme & dRdwma gt Se-wveER # el
S @ a3 v S, S - e g - REma
waur ¥ Arfeen gvft g werawa avft - qurer # wgd gof -
F% § ol o

TR T e
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22. Which of the following is the correct order of the
Himalayan Range from east to west?

frafofas TOE & S W g8 @ um w5 o e
forert o wdt ww ¥
(a) Everest, Kanchenjunga, Annapurna Dhaulagiri
TSR, Feo, STAqUT, Stk
(b) Kanchenjunga, Everest, Annapurna, Dhaulagiri
ST, TR, S, SR
() Kanchenjunga Dhaulagiri, Annapurna, Everest
oS, SR, ST, T
(d) Everest, Kanchenjunga, Dhaulagiri, Annapurna
Uttarakhand PCS (Pre) G.S. I 2014-15
Ans. (b) : T4 § U3 & W ydq Rrad & @@ wW R -
FHETST—> TR —> AT > SR | e fga o drgd
g S A R e @ F A A4 o ufvem # AR a6
% ot Ree deeerm oo § Req 81 e fava 1 gdtem
4 B T8 AU SR fma 1 @ W Red 21 3w S
8848.86 0 2|
QU =it A fRefy swwes Jurr § 21 eienfiR =l o
et & He # fo 2

23. The Lesser Himalaya is located in between:

oy femmera Rea g wea # -

(a) Trans-Himalaya and Great Himalaya/Zi¥ fe#Terd 3
e fedrer

(b) Shiwalik and Great Himalaya/Rmarfcts 3R HEH
fewTer

(c) Trans-Himalaya and Shiwalik/Zi@ feaem &
IMEIRE)

(d) Shiwalik and Outer Himalaya/Rmaferes 3t smer fedrer
Uttarakhand PCS (Pre) G.S. 2006-07
Ans. (b) : @ feaera, Refas @ wem fewea & weg &
fgd 21 7 Rure & gad 3N e e 8 9
femrer =1 fret fewrer & A9 @ off ST ST @1 39 st
#1 fmfor srfess gdifeq qon oRafda didi @ gam 21 g
9 3700 W, T 4500 WX F s q9n ftgq =g 50 .
21 o feurem S T o S@er dRuSd g1 SiemR qe
TR 31 Heequl Smerd €1 3@ gmer § wvdR & o
@ fewre % el ud ool A wfeAr fod @1 49 Yga
T WM fRurerd i wed e ¥ SYen il @ Sefh o
TRl Biee Aeq AT S Refers ¥ 31e & 2|
24. The altitude of Shiwalik peaks falls in between:
Trenferer Siftrent st S —
(a) 850-1200 m/850-1200 HeX & Hea
(b) 750-1100 m/750-1100 HieX & A&
(¢) 750-1500 m/750-1500 HieX & He
(d) 750-1300 m/750-1300 Hiex & Te
Uttarakhand PCS (Pre) G.S. 2009-10

Ans. (a) : 37 fgarera =1 frerfers o sy fRera, a8 fewmea
F T el @ Ty ovht §1 39 e e o Fed §)
fRrarfers w1 famfor fFsies g7 & gem @' dee # didear
I & I ¥ RY gL gF H AR HIE TG T 37fq 87°
T 3R e theft 21 W 10 ¥ 50 A = 21 s A
39 900 ¥ 1100 H. & o= o Rt 21
25. The Shiwalik ranges are the parts of-

Rrenferes wgreat Tt § | freent feeam §72

(a) Aravalli/3TEelt (b) Western Ghat/af¥awt =1e

(c) Himalaya/fgarer (d) Satpura/SdgeT

MPPSC (Pre) G.S. I* Paper 2013

Ans. (¢) : 393 T F AT @ |

26. Shiwalik ranges were formed in :
Torenferar groft 6t fmtor gam-
(a) Eozoic/3arsiges & (b) Paleozoic/desige |
(¢) Mesozoic/HaISIE®H H  (d) Cenozoic/famsNgs
BPSC (Pre) G.S. 1997-98

Ans. (d) : 3T3F ¥ F AT G|

27. Between which two mountain ranges is the Valley of
Kashmir situated?

R & vda St & wem i et e €2
(a) Ladakh and Zanskar/cTg[g d SIEh{
(b) Great Himalayas and Pir Panjal/ggq fearerd & dR dsirer
(c) Great Himalayas and Zanskar/g8d fgrerd g SIeht
(d) Karakoram and Ladakh/FRH 9 g
MPPSC (Pre) G.S. I* Paper, 2016

Ans. (b) : FYHR =1 Feq fewe™ 9 dR deme Sfori & wew
fed 21 Sy fRarera B & fow sfg @, Sl S & @
# S 21 ged feurem § Siefen, dR dSra # sferd, s
goft & Wigen 3 der # @ S eyt &% fed 2

28. Himalayan peak Kanchenjunga is situated at.
Temmera ot Seft =t oS et Teer &2
(a) Kashmir/&¥dR (b) Nepal/ﬁ"fﬂa
(c) Sikkim/f&fesn
(d) Himachal Pradesh/fGamae s@wr
MPPSC (Pre.) G.S. I' Paper 2014
Ans. (¢) : TafFFn & ST-9Tem 9m1 & Jued & g W fRn
e favg & Agd Tag S gda 91 @1 R S
8,598 . 21
29. The Kullu Valley is situated between the mountain
ranges of@@mﬁ'ﬁﬁﬂﬁﬁ ST & e MaRYA §, T -
(2) Dhauladhar and Pir Panjal/#TeTeR @e 9 4Tt
(b) Ranjoti and Nag Tibba/T0saif T AT feea
(¢) Ladakh and Pir Panjal/efer@ q91 4R 4sTTel
(d) Middle Himalaya and Shiwalik/7e7 fmrer o fmanfers

UPPCS (Pre.) G.S. 1999
UP Lower (Pre) Spl, 2002
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Ans. (a) : 7 TR REEA WU F ST G 797 GRUSTe
%ﬁ%mmﬁ%%&mwmm@raﬁrww
G & TF TeMRd SEard & Fewyt €1 39 SEer § Svin &
T T U F BOST U Foo] A A Rad 21 5@ & A
@IS T F T S S 2

30. The Himalayan mountain ranges are not a part of
which of the following state?

frafafaa & @ fra T o few & &2
(a) Uttarakhand/3d0@U€  (b) Uttar Pradesh/3t EEN
(c) Sikkim/fafesn
(d) Himachal Pradesh/fgamae s@wr
MPPSC (Pre) G.S. I Paper 2012
Ans. (b) : ST YV [T ¥ STWEIS T & I+ & a5
femrer 1 ¢ o wREr 3w Y § 48 ot § el swvwrs,
o don e v e & wwfem £
31. Choose the correct order from the following/f=1 T wEr
WA FME :
(a) Godwin Austin, Kanchenjunga, Mount Everest/Tefe
A, HE-e, A< TR
(b) Nanda Devi, Godwin Austin, Kanchenjunga/:iﬂ'lﬁapf ,
(c) Mount Everest, Godwin Austin, Kanchenjunga/Hi3<
TR, Mefer 3nfies, seaasim
(d) Godwin Austin, Mount Everest, Kanchenjunga/Tefes
W HI3< WA, S
MPPSC(Pre) GS 1991
Ans. (¢) : T, S f% Jurer § fuq @, Ruwem &t qor fawa
# gEg S 9 8, g 3 8848.86 WX (A.S.L.) Tl MEfH
AR (K,) 9Rd # a1 w9 A 9 8, fwd e
8611 . (AS.L) Bl Faem 9rd ¥ R i g@d ga I
A &, el e 8598 . B
32. Nanda Devi peaks forms a part of /A=aTaE =i
(a) Assam Himalayas/3T9¥ f&Her o1 9 8
(b) Kumaon Himalayas/3#13: feHe™ &1 9 g
(¢) Nepal Himalayas/¥arel f@Hrer a1 9T 8
(d) Punjab Himalayas/dsiiel fgHTer 1 4T 2
IAS (Pre) G.S. 2003

33. Nanda Devi peak is located in/9~<T Teft forer frora & —
(a) Himachal Pradesh/f@Ar=ret wew §
(b) Uttarakhand/3T@vs §
(c¢) Uttar Pradesh/3X e H
(d) Sikkim/fafFwa
MPPSC (Pre) G.S. I** Paper 2013
Jharkhand PSC (Pre.) G.S. II" Paper, 2013
UPPCS (Pre) Opt. Geog. 2001

| Ans. (b) : ST S 3 e 2 |
34. The highest peak of Himalaya in Uttar Pradesh is-/3<X

wevita femmera @ wafesr frew §—

(a) Chaukhambha/=@@T  (b) Dhaulagiri/gteifif

(¢) Nanda Devi/F= @& (d) Trishul/fr

UPPCS (Pre) G.S. 1996

Ans. (c) : 7&1 241 7817 . i 39E W TeW Ao 7 fm
g1 T8 I weNig feurery 1 wated R @ dfed ow =8
ITREUE ¥ UEAT @ 3N IUUEUE 1 Fared R 21

35. Which of the following mountain peak is not located in
Uttarakhand?/ﬁ!’qﬁvl%ﬂ' Tdd el o @ @

ITEUS ¥ frora 7 87

(a) Kamet/FHHe
(c) Doonagiri/gAMR (d) Nanga Parbat/=7 Tdd
Uttarakhand RO/ARO G.S. 2016
Ans. (d) : FHE, TRYD HR FAR @S H Ry @ safs
Wwww%ﬁaﬁﬁw@aﬁm%
M gdd B e A o Far S 2
36. ‘Nanga Parbat’ is located in/ 7T da’ 3raferd §
(a) Uttarakhand/3TG@e §
(b) Himachal Pradesh/fgamrer ey §
(¢) Jammu and Kashmir/\_rlui@ FHIUR |
(d) Meghalaya/ﬁ«‘ﬂ?l’q H
UPPSC Asst. Forest Conservator Exam. 2015
Ans.(c):WWWWWﬁW?IWW
ferrera i swen % gR uvew 9w # feq 31 98 g S
9§rﬂaﬁﬁﬁaﬁﬁé|sﬂa—?fﬁ1§8126ﬁ 3158 g &
‘Fiftet wers’ o w1 I 2

(b) Banderpunch/a=<4s

Ans. (b) : a1 T4 FuTS; feueE i A1 81 98 R 9 %
SIGUE T § Tgare fBHerd # srared 21
fewrera St &t i smaRl W Rl e st e —

(i) I & SR W,

(ii) STIEE & TR W,

(iii) MeTsh SR
FTifeTeh SR T effehtor 39 R fohar T 8—
ufyft e (dete fewter)— 9y wd waew & we-
560 fepet.
FHTS, EATETE— Taas T8 Hreft 74 o qeA-320 .
e fmTes (AuTer feuee)— Fel @ o a8 & e
800 e
ueff femmera (3mm feamere)— foear wd fegin (@) 7 &
L9720 forH.

37. The highest mountain peak of India is/¥TXd <hT ey
e vdd fTE #—
(a) Kanchenjunga/sh==siT (b) Makalu/Hehle]
(c) Karakoram/&R&RA  (d) Mount Everest/MRUIE Tal&

RAS/RTS (Pre) G.S. 1994-95

RAS/RTS (Pre) Opt. Geog. 2006-07

Ans. (a) : RUEE #1 Fared Tdd RIGT A8< TRE A9 §
21 IRA 1 GO T gad R e SifeT @ K2 (8611
W) 31 S (8598 HWEX) TU T WIE 2|
T e srafeafa

AR Ta (8848.86 W) Jarer
Tiefaq e (K2-8611 Hi.) AR
S (8598 HI.) A
T (8481 ) aret

TR T e
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38. Highest mountain peak in India is/STRe &Y wafea udd
< §-
(a) Mount Everest/A130< TRE
(b) Kanchenjunga/sa=Tsit
(c) Godwin Austin/Tefe 31ifed
(d) Nanga Parbat/=T wdq
MPPSC (Pre) G.S., 2010
BPSC (Pre) G.S. 1997-98, 2000-01
‘Ans.(c):'ﬂﬁ?ﬁmaﬁwaﬁl ‘

39. Which of the following is the correct northward
sequence of the relief features? T 9 IW

o &t X = it wad Svfi SiA-+ 872

(a) Zanskar Ranges, Pirpanjal Ranges, Ladakh Ranges,
Karakoram Ranges/SIT&h{ %\T[Tﬂ duSTe e
goft, dIgerE wdd Soft, HRERT geq goft

(b) Pirpanjal Ranges, Zanskar Re‘;égﬂes Ladakh Ranges,
Karakoram Ranges/ SR ged
goft, TgErE b Suft, FRBRT Teq S?Wﬁ

(c) Karakoram Ranges, Ladakh Ranges, Zanskar Ran}}gﬁﬁ,
Pirpanjal Ranges/®ReRa qdd ot e gof,

SR geiq goft, dResrer gda gof

(d) Pirpanjal Ranges, Ladakh Ranges, Zanskar Ranges,
Karakoram Ranges/SRuSTl T&q , @™ T§d g,

T TG o, HRIDRA e o
RAS/RTS (Pre) G.S., 2013
Ans. (b) : 3T I #t 3 (IR ¥ W) FfHF gaq goft GiK
Tl —> STEh—> AERI—> TR |
aa: fohed (b) W& 21

40. Which of the following is the correct order of the
Himalayan Ranges from south to north in the western

section?/afiyt \mT '%!ZITFR?I' & it & Efil‘UT
3T T AR FrAifeRa ®§ | @ W1 s wd §?
(a) Great Himalaya-Lesser Himalaya- Shiwalik
TR feArerg-ery fenrerg-fratfers
(b) Shiwalik-Lesser Himalaya-Great Himalaya
Rrarfers-ore fenrea-AeH ferrerd
(c) Lesser Himalaya-Great Himalaya-Shiwalik
oY fenrerg-He fenrerg-fatfes
(d) Shiwalik-Great Himalaya-Lesser Himalaya
fRrarfersh-me™ ferrera-ery feae™
(e) None of the above/3Tda ¥ & IE F&
Chattisgarh PSC (Pre) G.S. 2016
Ans. (b) : U= 9w # furer & AT 1 <o § SW #
N HY 9 TBR -Rrarfers, o feaed R weE RHeE)
39 YR Y fahed (b) T B
41. Zanskar Range is located in/STT&hT gt feore € -
(a) Jammu-Kashmir/?I'ﬂi-M'{
(b) Uttarakhand/3qU@vs
(c) Assam/3THH
(d) Arunachal Pradesh/37eUTT=cl EEN)
(e) Meghalaya/ﬁ‘ﬂ'l?ﬂ
Chhattisgarh PSC (Pre.) G.S. Ist, 2012

Ans.(a):wﬁ,awﬁvﬁﬂmﬁuwwaﬁiw
¥ for uh wbd g@en 8, S SR (FRAA R A @
TeHel) @M ¥ AT A ¢ aAHE H 3 srarefy
FET FW AER F 2

42. Which one of the following states does not lie alon

Patkoi hills? WA |0
TRl | Hor TE €7

(a) Nagaland/:fFT[ﬁU@r (b) Tripura/Bq

(¢) Manipur/AfoTg (d) Mizoram/fEreie

UPPCS (Mains) I* Paper GS, 2015
Ans. (b) : THE TEIEA H fAWR AMCvS, WATR
ﬁ%ﬁmn—@ﬁﬁ%laﬁwm@waﬁxﬂmm
21 Bgu oo 39 g 4 21

43. Consider the following pairs:

frrmfefeaa g w faeam i
Place of Pilgrimage Location
drefeem
1. Srisailam Nallamala Hills
B CIRCHIER]
2. Omakareshwar Satmala Hills
3THRTA TawTe vgifear
3. Pushkar Mahadeo Hills
Toht TEIed vgieat
Which of the above pairs is/are correctly matched?
ST § ¥ FA-ER T A gt 337

(a) 1 only/ad 1

(b) 2and30n1y/a\v'al?T 2 33

(c) land 3 only/m 1 3R 3

(d) 1,2 and 3/1,2 3R 3

(IAS (Pre) Ist Paper G.S., 2015)

Ans. (a) : H¥EH T TR & Fd et § Teamren wig
# feoq 31 SiiRYR wed YR H A werdl W R 7,
A Fd § REgh & AW § S S 91 qeed et H
S e YR H U S @ SR T TodH H 7
a1a: fohed (a) & B
44,

In terms of origin which of the following mountain

ranges is newest?/3cUta i ¥ ¥ f
A o Tefay -t g2
(a) Ajanta Range/3¥s=Il groft
(b) Palkonda Range/tﬂﬂﬁﬁﬂg'r goft
(c) Kaimur Range/ﬁ?{{ LET
(d) Patkai Range/‘RTﬂ'sﬁ groft
RAS/RTS (Pre.) G.S. 1996
Ans. (d) : SR & e H g T THE & TRea qod
Tan 81 Rrarferss wda gt Reem wda gjwer @ ged
T aferd (AgeN) Ted Suft ]| Stekr & wega s
TR $ TON & IHaid oW A TNE T ¥ fem 2
UIEHIVET, FEHT, IAHUET, TR T4 Teamee wgrear off
ferolt aRa & g T § e 1 R T ard | fem
ﬁmqﬁawaﬁf@m%mﬁﬁ A qer R v At
% gdf BR # gai 9nd # e 21

TR T e
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45. Most of the surface of Manipur is-
TG T STRIHIIT aae & —
(a) Ground/Hert (b) Plateau/93™
(c) Swampy/3TEe (d) Mountain/d&de
RAS/RTS (PRE) G.S. 2009

feprft. %1 = ofyw H G gda ¥ qF & A1 SaT vdd q9% T
9 F AT gEdg AR F &9 F Bl T TEA A S TG
JuTeT 29 # oA §, WO ST 9T 81 g9 dd & §ed e
N FHEEY 2

Ans. (d) : FUTG 9RA g W) Rem T gedE T8 21 TR
T IR T ¥ ol veifeat & fiw o ot A e @1 T F
90 SfaeTd & 1 -9 W weIfEat §1 AT veel g qa
§ 970 #eX FW 71 FeIEal 3w H = € o geqd fAerd &
9T € q1 0T § B E-ad WEIE @ S § 1 s off T
F SR el S 21 3UH A% Y Tl Far & Y& g 2
T FA -9 F 74.34 F(A9E &F | a7 91 90 21 T W
o e fomr el (Referem ey, et o’ off W
ST 2
46. Which one of the following mountain peaks is not

located in India? e g EaCk:) Teh

O | srafeerd T 87

(a) Gosain Than/TMHTE &1 (b) Kamet/&MHd

(c) Nanda Devi/ar i (d) Trishul/feget

UPPCS (Mains) G.S. Ist Paper, 2005

Ans. (a) : 39 femerm § iy, erAn, fre@, A
T, T, W A SR fe § S T
H #F sraRed 3

47. Which one of the following is the youngest mountaln

chain?/frafafiad o @ i wo® &= veia goft §2
(b) Aravalli/3TTeett
(d) Annamalai/x’:'ﬁITvTIS?WTQc
UP UDA/LDA (Pre) G.S. 2010
Ans. (¢) : RmEfas aoft e & ge@ 969 wda 9ot 2
TASIES I H ISER A4 % ad § 3@ & 9 ¥ farfas
femrera 1 fmior gam| g vda St g Rewer st AfEt g7
et T swmfifed gw ¥ gem 21 W@ # i qwn Tgew
Afedt % frohe fmafees gvff q@ & S &, =R @ s
g7 ferarfers @1 & fawR @)1 fyanfers @t wdff am # g,
o aferft wd weadf 9T # g7 Fed § S9- W
48. Which of the following ranges separate the Kashmir

Valley from the Indus Valley"f&l’ﬂﬁﬂﬁgﬂ T ¥ -4t

STeT HYHiT et Y ey aret | STenT Wit §7?

(a) Dhauladhar/€TeTeR

(b) Great Himalayan/‘}f'cr IFEIGRE

(c¢) Pir Punjal/dR dsiret

(d) Shivalik/Rrarfess

(¢) None of these/3T8 T g &

Chhattisgarh PSC (Pre.) G.S. I%, 2012

Ans. (b) : I feareEa goft HvdR =t @ iy wet ¥ stem
w0 2, R R, wafe ot g8 oo % am @ o S
ST 21 7 e ) wdtew dur ged ult ooft @ Rrwen
il 9mT enfeha Sl (Iege, A9 qur Ry ==) 9o R
Td qrvd At # reia srEEd ot § fAff g1 59 ooft &
it e 6000 Hi. g 2500 (2400) foedt. 3 =ierE 25

(a) Vindhyas/faeq
(c) Shiwaliks/f¥marfeish

49. Which is the highest mountain?/ShIET Tl el yad

2?2

(a) Mount Everest/HI37Z TRE

(b) Kanchenjunga/sha=sim

(¢) Lhotse/@eH

(d) Makalu/Hehc]

Chhattisgarh PSC (Pre) G.S. 2010-11
Ans. (a) : T8I TRE (8848.86 Hey) TR § favg & gay
e T AR @ S que § fRm 21 Aeve e 1 foe #
AT (S ) a9 AU § RAT (SRS A wed
1 28 g & e e o Fed
50. The important ranges of Dhauladhar and Pir Panjal
are located in/ qer U U ohi

Afvrat srafier &-

(a) Trans Himalaya/Ziq feamea #

(b) Great Himalaya/"eT fearera &

(c) Lesser Himalaya/eTq fgdrerd ki

(d) Outer Himalaya/aTal feare™a &
UPPCS (Pre) G.S. 2002
Ans. (c) : HTemeR (RATaa wawn), ¥R deTer (SR FEHi) st
o fewrer # srafyd €1 @ e & siwd R 3700 §
4500 e TF ¢ THH U9, HHIS, HUGT q97 319 & fewrerd
?Hﬁ?ﬁ’lﬁ%l 7 femrera S wq@ SfvTE, siiemer qun oS
|

51.

[N

Which of the following states of India represents all the
physical states of the country?

ORd & T T ® | i Q9 & aeft awl ol

AT ohT Werf-feree shiam §-

(a) Orissa/3gET

(b) Himachal Pradesh/fGam=ret s&wt

(c) West Bengal/qf¥=H sTet

(d) Karnataka/&esh

UPPCS (Pre) G.S. 2003

Ans. (¢) : U. ST TST § dd Wew, (AMSifeT Rem), T
w1 (Freren T Fa), FEdY & (FHEE e qor & gem
TRYT (Hlctbrr o1 TErR) qoft =R «fifas gewi &1 St
T 2|
52. Arrange the following mountain ranges in sequence

from north to south and choose the answer from the
codes—

frafefiae wda SfteEt st S-S e § Satee
AT AT He F | I G

1. Dhauladhar/¢ielTeR2. Ladakh/cieaRa

3. Pir Panjal/dR USiTei4. Zansker/STaht

Codes/%< :

TR T e
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)3 (b) 4,2, 1,3
1 (d) 4,2,3,1

UPPCS (Pre) Opt. Geog. 2008
Ans. (c) : e & SR # el g8 Tdamensit H TH-FTHR
¥ o R & AW ¥ S S 2 S R B g
I Y RV HA FHAY: FRHNH, TR, ST JETHTAT,
dROSTer der etemR =ifeat qer e & ufeadt 9 § o
forepe () @@l 21
53. Which of the following expresses the true status of

cold desert in India?/fFrfafaa & & 9-91 9YRa o

‘vfter weTae’ Wt W rarkfe i A AT -

(a) North-East of Karakoram range

FRHA goff % IT-gd

(b) West of Pir Panjal range/dR STl goft & ufyew §

(¢) South of Shivalik range/fSTaTfers 9oft & aferor #

(d) West of Aravalli range/3Taeit goft &% ufvew §

(LA.S. (Pre) Opt. Geog. 2003)

Ans. (a) : 9Rd § Y7 wera & GEr oraRefy FweRA 9ui %
SR-GH 1 ARYerh H 8| g9 & § 9gd o 3ve usdl § 3R
ot T EH F BRY Ig A YH Tl 1 I 3 i wewd
T & S 2

54. Which one of the following pair is not correctly

matched?/fr=ifeiad ¥ & 9 Ush 70 AT &l &7

(a) A and R both is true and R is correct explanation to
AJ(A) 3R (R) 3 & & T (R), (A) 3T T& =R 2
(b) A and R both is true but R is not correct explanation to
A/A) 3R (R) ST @& &, T (R), (A) #1 §&
e T 2
(c) A is true but R is false/(A) T& &, T (R) el &
(d) A is false but R is true/(A) Teid 8, T (R) T 2
UPPCS (Pre) Opt. Geog. 2008

Ans. (¢) : U TEAE0T & 91 TH U B GEER
e g0 § A =g veq v g ufea g8, e fava

forfor forreTeT® wie fFRT % WeR g3T €1 Wi afer Tdd -
TS, WL, Tead, Rued e WA R % TR 93
werg & o g 81 T8 AR WA Sfediied hedh & R
e B 2

FAHH IeAqH TH FAHGH afrd gadl B ged gaml S

56.

Match the list I with list Ii and choose the correct
answer using the codes given below—

T 1 A g 11/ gafaa st we i o ™ we
¥ e ST HT AT R -

List-1/g=H 1 List-TI/g= 11
(Mountain Range) (types)
(Ui ThH) (T&T)

A. Himalaya/f89@@ 1. Blocked/d3e
B. Sahyadri/9=s 2. Folded/afem

(a) Pirpanjal — Lesser Himalaya C. Rajmahal/TSH8el 3. Residual/31aiTe
S IC SIS — GRARSIKE D. Nilgiri/FrafiR 4. Volcanoic/ﬁTFﬂ'ﬂ@
(b) Potwar - Kumaon Himalaya Codes/e :
= A B D A B D
TR - T e (a)24f3(b)432cl
(©)K2 - Karakoram/HRIBRH © 2 1 4 3 (& 4 2 3 1
(d) Karewa - Kashmir valley UPPCS (Pre) Opt. Geog. 2004
Hr - FHITHR =T Ans.(c):@ﬂ'ﬁﬁ’lﬁ?’qgﬂwg—
UPPCS (Pre) Opt. Geog. 2010 udd shd TehT
Ans. (b) : TE GATAT I 39 BN § — fearem - dfe
(a) RO — oy feArer BRI —  duiey
(b) TEAR — IR Y8R TSHed —  SererdwEr
(c) Koo Tiisfam &Aifed — &b & qaid =i defit - erEfiw
(d) T - wwl wd # fem swrs| | | (o w8 gifem 8
e 57. Consider the following/fferfaa uX faem witaT :
37 fosed (b) W gAfer 78 21 1. Jammu Hills/S] wgifeaf
55. Assertion-(A) The new folded Mountains are also known 2. Mikir Hills/fAfs gifeat
as Tertiary Mountains. 3. Zaskar mountain range/SIT&h{ TeHTET
AT (A) : TaH aferd wddr @ ZRiad wda o e < 8| In which of the above the rainfall occurs more than
Reason-(R) They are formed mainly with the help of 100 cm?/3Tg e ® fermfen & @i 100 €l & sifeen
constructive plate Boundry. Frar 872
/T (R) : T (AT J&0: s @i fFail & R (a) Only 1 & 2/38e 1 3 2
gam 21 (b) Only 2/3%aa 2
Choose the correct answer of the code : (c) Only 1 & 3/Fad 1 3R 3
e T T I YR (d)1,2&3/1, 2 3R 3
Codes/&he : 1AS (Pre) Opt. Geog. 2008
47 YCT
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Ans. (a) : 59 3R R & wefear ferfos wdammer &
o 8, Wl awl 100 9. ¥ 31Reh &t 81 SR qelaHrer
ZFE udquren &1 9T @, S RAem % S # 8, @i anf
A A B

58. Match the list I with list I and choose the correct
answer using the codes given below/‘{il\%ﬁ I (A™) )

=it 11 erafafa) & gafea s qor giest & =

few 7T e w1 yE W wd S g
List-1/g=H 1 List-TI/g=it 11
(Name)/(TH) (Location)/(37aferfe)
(a) Bhabar 1. Karakoram range
i FRIH Hroff
(b) Siachen Glacier 2. Himachal Pradesh
fienfem foma femraa e
(¢) Bundelkhand 3. Alongwith Shivalik
plateau foothills
FIGUE TSR franfers & fiftorl & @y
(d) Rohatang Pass 4. Between Gangetic
plain and the verge of
Vindhyachal
garT & T % HeE a7 faee
FR 9 & A
Codes/&< :
A B C D A B C D
@2 4 1 3 ® 3 1 4 2
02 1 4 3 d3 4 1 2

(LA.S. (Pre) Opt. Geog. 2003)

60. Which one of the following is the highest mountain

peak?/fAfaaa § ¥ &H- '{ﬁ'@,'ﬂﬁ_vrﬂiiﬂiﬁﬁﬁo

(a) Nanga Parbat/=T T (b) Nanda Devi/d=<I i

(c) Kanchanjunga/&e=-sien  (d) K2/ &2

NDA (II) 2008

Ans : (d) BaeEm 9 wd afed udd g@en @1 fava @
Wmﬂqﬁaa}msﬂmﬁmﬁaﬂ%, e forgar &t
Farea Sl AT AR TRE (8848.86 ) Wit 71 W
fopedt & & Wt wifeat o femew vdq wen ¥ wEfud g,
el S saen 8-%-2 A e ST (8,611 Hr), SHudS
(8598 ), = wdd (8,126 ) W FaT I (7,817 W)
61.

Which one of the following does not characterize the

Himalayas?/fretata o wA-dt, feues @

Tergroran = &7

(a) Various parallel ranges of the Himalayas form a
convex arc/fEATET & T TARR ATl IO A9 H
ferefor shedt &

(b) There exist syntaxial bends at both the termmals of the

Himalayas/Rae@ & aF R W s e fmem @

(c¢) Indus, Sutlej and Brahmaputra rivers are examples of

antecedent dramage/ﬁl—r‘g Helst ERRE et
Qadf 31YaTE T IaTeIT &
(d) The Himalayas are wider in the east than in the west
femrera, ufvem & o o § sifere wter 21
NDA (II) 2010
Ans. : (d) e g & FdHaq Aser @ afed gdaAr 21
foet Iafa <Rfed s § g3 fove™ veq S@en R 9

Ans. (b) : TEI G I T TR 2| ST Fa9 d 2500 frht, o § thelt g€ 21 qd & g
=) (srarfarte) , =g 150 feft. dom ufem & 400 frdt. 2, e SR oflm =
B —  feraferss & fftare & @ U qd § Ta 9 H S &1 1 I a9t IAeF B
fepnfer femme — e ol ' T & afsed Rrer qe fenrera st aren e wter 2|
gﬁa’@‘ug WR - T % A o e TR 62. Match List-I with List-II and select the correct answer
"I&f % 7 using the code given below the Lists: .
g &4 - feama v Teit-1 = gei-11 & gafaa s o giest & =
a7: faed (b) et gAfe 21 & e & YA & W I g
59. Which one of the following is the correct order of List-1/g=f-1 List-11/ gfi-11
Himalayan ranges from North to South? - (Peak in the Eastern (Location in
I W/ 0T it IR femmeret wda gt (=) w0 wE Himalaya/ gt the map/ WTfa= ®
3rgeRn ferfetfiaa & @ wi=-w1 2 femmera # fore) TETEAT)
(a) Karakoram, Ladakh, Zaskar, Pir Panjal, Siwalik A. Makalu/T&RTeT bas ;
A, T, S, R dorer, Refers B. Kanchenjunga
(b) Ladakh, Zaskar, Pir Panjal, Karakoram, Siwalik CaoE S ‘M"L
aerE, S, R e, SRR, Rafes C. Namcha Barwa
(c) Pir Pan]al Zaskar, Karakoram, Ladakh, Siwalik U= Sar
IR IS, SR, SN, e, RmEes D. Mount. Everest
(d) Siwalik, Zaskar, Pir Panjal, Ladakh, Karakoram nEe qaﬁ'{z
fyranfers, SRy, ¥R USTd, A, HRHRT Code/a:
CAPF - 2019 (I) ©
- A B C D A B C D
Ans.(a)mﬁﬁmwwwwﬁmﬁﬁﬂ @2 3 4 1 ) 2 4 3 1
HHRH, TEN, I, G TTeT 3R e 21 © 1 4 3 2 @1 3 4 2
37: fbed (a) TE 2 NDA (I) 2011
ORA T A 48 YCT



Ans. : (a) 2 H& W Hh] (8481), 3 HEAT W sheSHl
(8598), 4 HEAT W AT SRAT (7756) T4T 1 WA W o =@y
TET TR (8848.86) & |

37: fahed (a) 98 2

63. Match List-I with List-II and select the correct answer
using the code given below the Lists :

Teit-1 =t GeAi-11 o |y GAfAa Hite i et &

Hfrer fau T e 1 wEnT R 9 ST g
List-1/g=h-1 List-T1/g=A-11
(Himalayan Peak/ (State/TSA)
A. K2/ 2 1. Uttarakhand
SHUEUs
B. Nanda Devi 2. Jammu & Kashmir
=Tt WHT-hRyHI
C. Tara Pahar 3. Sikkim/faferRm
T ugrg
D. Kanchenjunga 4. Himachal Pradesh
. . R o
Code/<h2:
A B C D A B C D
(a2 4 1 3 2 1 4 3
03 1 4 2 d3 4 1 2
NDA (II) 2012
Ans. (b) : T AfAT %7 39 BN -
(frmrerar Rrem) (T /R, ITF Ja9T)
K, - STRL-HYH (FFHH )
et - TS
IURHIES - EICEREEN
SheASI - fHferpn
37e: faebed (b) TEl 2
64. Jawahar tunnel on Jammu-Srinagar hlghway passes
through/Si- s/ TemT W, Waw@X GO wEl 9
Tt 82
(a) Pir Panjal range/9R dsTTet groft
(b) Karakoram range/ NI Soft

(c) Zaskar range/ STEhT goft

(d) Dhauladhar range/ eferer iofy
NDA (IT) 2013
UPPSC (Pre.) Opt. Geo. 2004
Ans.(a):WWﬂaﬁWéﬁwmﬁ?W-
o & fm drdsmer Svft § S e 81 3 e ¥ AR
ST A oA 81 SEre g off s 7 R 8 sifven =
SRt 9ol # e R, fed iR § oig S 1 ARt erar 21
gﬁiﬁﬁ@ ¥ firafie & anf S 21 a1 w1 3R AR
ae ¥ qeRry # fRrm 31 R wueT: gred-AnTqR-shiciemar e
g & T Yo @ wew Al 21 U e A
TbiET & el § @ 31 S FifEees ® BEwel § sed
2

[

65. Considering the locations of mountains in India, which
one among the following is in right sequence from

south to north?/sTRA & Uddl o T W forem &aa
T frafefad ¥ | SH-91 Tsh 0T | 3T i 3R
T W& ITIHRT §7
(a) Doddabetta, Kailash, Dhaulagiri, Vindhyachal @FQTG}IET,
e, eenfii, e
(b) Doddabetta, Vindhyachal, Dhaulagiri, Kailash/SIgeeT,
fefearee, drefiR,
(c) Dhaulagiri, Kailash, Doddabetta, Vindhyacha]/ﬁ?ﬂﬁlﬁ,
o, Sgee, e
(d) Dhaulagiri, Vindhyachal, Doddabetta, Kailash/ﬁ?ﬂﬁrﬁ,
fearaa, SrgmeT,
NDA (I) 2014
Ans. (b) : 9Rd ¥ Uddl & SFAEIH RI0T  IW H AN T
A TH TN -
TreEgl — fawmEd — Gl — e
ZRT AR H GET FAred REE Siewg 21 e gof
ool WSR & ol R F fagd 2 S U Sfewss 21
SR geg e I wh A @ S Aua # fRem g1 o
gdd e St W safted 21
66. Arrange the following popular hill stations of India in

terms of their height (from highest to the lowest) the
mean sea level /R & frefeafaa wrewiyar

T I A1ET 9U% a9 @ STkl e (STuad o

Treaw) & MR W shieg i :

1. Mussoorie/Tg{ 2. Shimla/RRme

3. Ooty/3T 4. Darjeeling/aTfSffeiT

Select the correct answer using the code given below :

= fo2r T e o JET & W I g

(a) 3-2-4-1 (b) 3-1-4-2

(c) 2-3-4-1 (d) 2-4-1-3

CDS (I) 2016

Ans:(c)ﬂﬁﬂ'ﬁﬁlﬁﬂ"’ﬂrsﬂwg\—

RERIREIE)) (TS 9 ¥ 3fraa Heg)

fmen (famet s=&3) - 300-6000 HieX

= (e - 2240 HieX

geifer (afEm Sme) - 2134 HWe

T (FTErs) - 2000 HieX

37: faeheq () TE gAfed 21

67. Pir Panjal Range in the Himalayas is a part of :
Tererar &t o USTTeT ueaETeT feREeRT W 272
(a) Shiwalik/ fRrarferes
(b) Trans Himalaya/ IR fgarera
(c) Central Himalaya/ Fesadi e
(d) Lesser Himalaya/ T4 fgare™
CDS (I) 2016
Ans : (d) SRS gdqaren @Y feMrem &1 9 21 dRase

fraa Rarera @ @@ S g@en 31 A 9 Sy wd
fermae s & e 81 g9 2R # e avft 21

TR T e
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68. Which one of the following statements about the
Himalayas is NOT correct ? % ER

frefafad & 9 &i9-91 o= 98 7@ § ?
(a) They are young fold mountains/d T FAT gAd &ul
S ?EI'I?:%T) g
(b) They have geosynclinal rocks/gTH ﬁaﬁqﬁﬁﬁ CEE] g
(c) Himalayan frontal faults (HFF) separates Himalaya
from Tibet/fRRIe & 371 H¥1 ( hed hieeH,
HFF) fearera = fmsa @ erenm i §

(d) Indus and Sutle 3q%_(rlvers form antecedent drainage in

Hlmalayafﬁirﬂ Al Al feuerd | qead! 998
T §

CAPF (AC) Paper-12017
Ans. (c) : feoe &1 fawior ws o s goee & dNH
53| 39 fmion & grere § SR & qoefd & fgia wd 28
2 F wie fadfen fagia gaifus o= 81 g9 fmio
TAISIEh FEThed & TANE d SAfermHiashed § g3l 7% UH
el WIgER (aferd) ged 2
98 wdd s wgEl @ s 21 Rmem uwdd end o
feraforrereen & 21 RArera ot 1 et feresa Y SR I @ qor
TR I SR IANR FBR 8| TE @ forema i ey 9 v
w21 T 5 Ruem F emdw gwn fewred ¥ e Al
Afeat § Ry, Sao @adt A w1 Seew g1 3 At @
I % IYE TS % SIEY Tl IRT H A § |
;. 3T HIAI H FUT (c) A B
69. Trfefad & @ s=-a1 wew wet TE §?
(a) fewTer & ufym 9w &t S SHs g 9 H SAE A
qor & e 2
(b) femrer weor afer gda &
(c) Ferafers v sfaen swdfed T4 fri & a4 3
(d) fewTer SR & st =S € 3R g8 # Gl & S &
EPFO/APFC 2004
Ans. (¢) : U™ b HYIR § 3| % 2500 fHd. o 2
g 39 fawR frafe & e &g 78 & 95 9 srem
# SRIgT T T A S 81 U & SR e s <ter §
o T # AR B & I 3 e o % gl wo
371G A g ae & SR Rmafas gof @ fmi gan |
fF srdfed 78 fem ¥ e FwR § ot deT € iR @ §
Tebyot B ST 31 FEAER e (o) TE A € AT fwed T 2
70. TewTeT™ o faar SR =T el e 7
(a) FqfE= H (b) =R #
(c) uret | (d) FR &
IAS (Pre) 1995

Ans. (c) : fgare™ geat mmﬁwaﬁa@rﬁ
* U9 Sﬂﬁﬁﬁr&fﬁ d) wdd 21 femrera w2
Waﬁﬁﬂﬂﬂ T-Zof § araqtrﬁ%mﬁrfﬁagﬂ%
ﬁmﬁﬁmﬁlﬁ@ fﬁammﬁgaﬂ%mmﬁ

T WA wed sl geq fewrert s 8, s e femmem,

HTER e e Rued wed s § Hfda st €)1 e

T fyrarfers 9ol Rurerd & 9o Tdaq qeid Soft 2|

72. Ufverft femmera § Soo wAdia a=eatd 3000 HeX @
SOTE e € SUCS Bt ¥, Walfer g feumersr # g
4000 HieT T HeME dek SUCS Bl &1 Uk & udd
ST ® 3| ferfererar ot IO § -
(a) I&T AT 7 ufverdt fmrer @ eifers ST @A
(b) T fTera S e R 9 9§ ufva e

e St e g

(c) T e W fvad femrers it oten i AR ast g
(d) gdf femrera @ weem @ uftedt e @ @eeE @
aferep IR g

IAS (Pre) 1995
Ans. (b) : I & fomew, ufvedt feme & oTiem W
et Ya 3 S free o 31 o ﬁ%ﬁmﬁ%ﬁ%@ﬁ
Wrg Ay et 21 Tor®y aEid @ e o gfve
femTer ot aTuer aiferp firerdt 21
73. The snow line in Himalaya is between-
feurers o femar fr o fier et 2 -
(a) 4,500 to 6,000 meter east/4,500 ¥ 6,000 HeX 7d H
(b) 4,000 to 8,500 meter west/4,000 ¥ 8,500 HeX wfv=w ¥
(¢) 4,500 to 6,000 meter west/4,500 F 6,000 X ufvam &
(d) None of the above/3Tad H ¥ #1E &
BPSC (Pre) G.S. 1994
Ans. (c) : F5E wdd a1 3=9 9 W a7 Hfead W e FW
ﬁaaﬁsaﬁr@?ﬁ% feman seard 21 fewer & f&m @ &
g gda i @1 o RArem # iR e % HRUT 4420
#. ® femwEr weft S @ sEfs seii Ruem §

AT F
FRUT 6000 H. W famar ferdt 71 Auret RAe™ § 4500 .
T FurE 9 U femed # 5200 W W W o fud g

74.

In which district, the major portion of the Chhuri hills
gIfgat

is distributed?/g <Al o e

et o ferafa & 2

(a) Korba/®RaT (b) Mungeli/geft

(©) Bilaspurm (d) Kabirdham/seemd
CGPSC (Pre) 2021

Ans. (a) : T F Teifedl &1 gaitus foem sen ™o § 2
IS % AR SHH IR w e ¥ off ?1zw
TEIET Wl Hig A€ W G <fqor & wit § e S 2

Ans. (b) : fewrer &1 R 3RE AT qA U A wRIS AT
v & fm 81 A e e @ v A0 — e,
R, U ofR €1 wvdik # fem fueE % R ¥ -
SR, FHIHH 3§

71. fwerE @t AT 9HGY aord e W gg §, few |
yrefiaw groft &
(a) femanfers goft
(c)%’clf%l‘lmﬁﬂﬁ

(b) f=1 femrera goft
(d) eierer gof
IAS (Pre) 1994

75. Churri-Udaipur hill extends-

Bh-sgage vareat =

(a) Korba- Balrampur/aﬁ'{m — FAY

(b) Korba-Raigarh/Elﬁ'@T — g

(c) Balrampur-Surajpur/sTeUHYT — FIET

(d) Bilaspur—Kawardhaflﬁ?lN‘i’( — FHayt

(e) Korba—Koriya/EﬁW — i

Chhattisgarh PSC (Pre) G.S. Ist 2014

| Ans. (b) : ST A FI e |

TR T e
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